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Instructions to the candidates

1. Before you start to answer the questions you must check this
booklet and ensure that it contains all the pages (64) and see that
no page or portion thereof is missing or repeated. Candidates are
also required to check that they have got the right question booklet
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are same. Read the instructions printed on OMR Answer sheet
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Sheet. You must complete and code all the details on the OMR
answer sheet correctly failing which your answer sheet may not
be evaluated. You must also put your signature on the OMR Answer-
Sheet at the prescribed place before you actually start answering
the questions. These instructions must be fully complied with,
failing which, your OMR Answer-Sheet may not be evaluated.

3. The OMR answer sheet will be in triplicate (Original and two
carbon copies). Candidate has to take one carbon copy (marked as
‘candidate copy’) with him/her after examination and handover the
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invigilator, his/her candidature will be cancelled. Further, if the
candidate tampers with candidate OMR carbon copy and claims
for same, in that case also his/her candidature will be cancelled.

4. This booklet consists of 100 multiple choice questions. Each
question has 4 (four) alternatives (a), (b), (c), and (d). In any case
only one alternative will be the correct answer. In case if you find
more than one correct answer, then choose the most appropriate
single option and darken the appropriate circle in the answer
sheet in front of the related question.

5. Question Booklet consists of two parts : Part—A : Generic, which
is common for all candidates and Part—B : Technical, in which
candidate has to attempt the questions as per his/her choice
(CS/ECE). Candidate has to attempt both parts compulsorily. Choice
attempted should be marked on the OMR sheet.

6. For each correct answer One mark will be given and for each
incorrect answer 0·25 marks will be deducted.

7. Use Black/Blue ball point Pen to darken the circle. Answer once
darkened is not allowed to be erased or altered. Against any
question if more than one circle is darkened, machine will allot
zero mark for that question.

8. Do not fold OMR Answer-Sheet in any case.
9. No rough work is to be done on the Answer-Sheet. Space for rough

work has been provided in this booklet.
10. Mobile phones and wireless communication devices are completely

banned in the examination hall/rooms. Candidates are advised
not to keep mobile phones/any other wireless communication
devices with them even switching it off, in their own interest.
Failing to comply with this provision will be considered as using
unfair means in the examination and action will be taken against
them including cancellation of their candidature.

11. Candidate should not leave the examination hall/room without
handing over his/her Answer sheet to the invigilator and without
signing on the attendance sheet at proper place against your roll
number, further candidate should also ensure that booklet no.,
booklet series and OMR answer sheet no. are correctly written on
attendance sheet before signing on it, failing in doing so, may
lead to disqualification/ no evaluation of OMR Answer-Sheet.

12. In case of any discrepancy found in Hindi language, English version
will be treated as final.

Cå‘rXdmam| Ho$ {bE AZwXoe

1. àým| Ho$ CÎma {bIZm Ama§^ H$aZo go nhbo Amn Bg nwpñVH$m H$s Om±M H$aHo$ gw{Z{üV H$a
b| {H$ Bg‘| nyao n¥ð> (64) h¢ VWm H$moB© n¥ð> ¶m CgH$m ^mJ H$‘ ¶m Xþ~mam Vmo Zht Am J¶m
h¡& Cå‘rXdmam| H$mo ¶h ^r Om§°M H$aZr h¡ {H$ CZH$mo ghr narjm-nwpñVH$m {‘br h¡ {OgHo$
{bE CÝhm|Zo AmdoXZ {H$¶m h¡ Am¡a Omo CZHo$ Admit Card ‘| N>nm h¡& ¶{X Amn Bg
nwpñVH$m ‘| H$moB© Ìw{Q> nmE±>, Vmo VËH$mb BgHo$ ~Xbo Xÿgar nwpñVH$m b|&

2. AmooE‘oAmao CÎma erQ>> àý-nwpñVH$m ‘| hr CnbãY ahoJr& H¥$n¶m gw{Z{üV H$a| {H$ AmooE‘oAmao
CÎma erQ> g§»¶m Am¡a narjU nwpñVH$m g§»¶m g‘mZ h¢& AmooE‘oAmao CÎma erQ>> na OmZH$mar ̂ aZo
go nhbo AmooE‘oAmao CÎma erQ> na N>no {ZX}em| H$mo Ü¶mZ go n‹T>|& AmnH$mo AmooE‘oAmao CÎma erQ>
na g^r {ddaUm| H$mo ghr T>§J go nyam Am¡a H$moS> H$aZm hmoJm& Eogm Z H$aZo na AmnH$s CÎma erQ> H$m
‘yë¶m§H$Z Zht {H$¶m Om gH$Vm h¡& àým| H$m CÎma XoZm ewê$ H$aZo go nhbo AmnH$mo AmooE‘oAmao CÎma
erQ> na {X¶o JE {ZYm©[aV ñWmZ na AnZm hñVmja H$aZm hmoJm& BZ {ZX}em| H$m nyU© ê$n go nmbZ
{H$¶m OmZm Mm{hE& Eogm Z H$aZo  na AmnH$s AmooE‘oAmao CÎma erQ> H$m ‘yë¶m§H$Z Zht {H$¶m Om
gH$Vm&

3. AmooE‘oAmao CÎma erQ>> VrZ à{V¶m| ‘| hm|Jr (‘yb VWm H$m~©Z H$s Xmo à{V{b{n¶m±)& narjm
g‘m{á Ho$ ~mX AmooE‘oAmao CÎma> erQ H$s ‘yb erQ> VWm EH$ H$m~©Z à{V{b{n {ZarjH$
H$mo gm¢nZo Ho$ nümV² Cå‘rXdma AnZo gmW EH$ H$m~©Z à{V{b{n (Aä¶Wu à{V Ho$ ê$n ‘|
{M{•V {H$¶m J¶m) bo Om gH$Vo/gH$Vr h¢& ¶{X H$moB© ^r Cå‘rXdma Eogm H$aZo ‘| Ag’$b
ahVm/ahVr h¡, Vmo CgH$s Cå‘rXdmar aÔ H$a Xr Om¶oJr& ¶{X H$moB© Cå‘rXdma AnZr H$m~©Z
à{V{b{n ‘| {H$gr ̂ r àH$ma H$m ’o$a-~Xb H$a CgH$m Xmdm H$aVm/H$aVr h¡, Vmo Bg pñW{V
‘| ^r CgH$m/CgH$s Cå‘rXdmar aÔ H$s Om¶oJr&

4. Bg àý-nwpñVH$m ‘| 100 ~hþ{dH$ënr¶ àý h¢& àË¶oH$ àý Ho$ 4 (Mma) {dH$ën {XE JE h¢,
(a), (b), (c) Am¡a (d)& {H$gr ̂ r pñW{V ‘| àË¶oH$ àý H$m Ho$db EH$ {dH$ën hr ghr CÎma
h¡& ¶{X AmnH$mo EH$ go A{YH$ {dH$ën ghr bJo, Vmo g~go A{YH$ C{MV EH$ {dH$ën H$m
MwZmd H$a| Am¡a CÎma-nwpñVH$m> ‘| g§~§{YV àý Ho$ gm‘Zo dmbo Cn¶wº$ Jmobo H$mo H$mbm H$a|&

5. n«ý-nwpñVH$m ‘| Xmo ̂ mJ h¢ … ̂ mJ—A gm‘mÝ¶, Omo {H$ H$m°‘Z h¡ Am¡a ^mJ—B VH$ZrH$s,
{Ogo Cå‘rXdma H$mo AnZo MwZo hþE ñQ´>r‘ Ho$ AZwgma (CS/ECE) CÎma H$aZm hmoJm& XmoZm|
^mJm| Ho$ CÎma {bIZm A{Zdm¶© h¢& AQ>¡åßQ> {H$¶o J¶o {dH$ën H$mo AmooE‘oAmao CÎma erQ>>
na A§{H$V {H$¶m OmZm A{Zdm¶© h¡&

6. àË¶oH$ ghr CÎma Ho$ {bE 1 A§H$ {X¶m OmEJm Am¡a àË¶oH$ JbV CÎma Ho$ {bE 0·25 A§H$
H$mQ> {b¶m OmEJm&

7. Jmobo H$mo H$mbm H$aZo Ho$ {bE Ho$db H$mbo/Zrbo ~m°b ßdmB§Q> noZ H$m à¶moJ H$a|& Jmobo H$mo
EH$ ~ma H$mbm H$aZo Ho$ ~mX BgH$mo {‘Q>mZo ¶m ~XbZo H$s AZw‘{V Zht h¡& ¶{X {H$gr àý
Ho$ gm‘Zo EH$ go Á¶mXm Jmobo H$mbo {H$¶o JE hm|, Vmo ‘erZ Ûmam CgHo$ {bE eyÝ¶ A§H$ {X¶m
OmEJm&

8. {H$gr ^r pñW{V ‘| AmooE‘oAmao CÎma erQ> H$mo Z ‘mo‹S>|&
9. CÎma erQ> na H$moB© ̂ r aµ’$ H$m¶© Zht H$aZm h¡& aµ’$ H$m¶© Ho$ {bE Bg nwpñVH$m ‘| ñWmZ {X¶m

J¶m h¡&
10. narjm hm°b/H$‘amo§ ‘| ‘mo~mBb µ’$moZ VWm ~oVma g§Mma gmYZ nyar Vah {Z{fÕ h¡& Cå‘rXdmam|

H$mo CZHo$ AnZo {hV ‘| gbmh Xr OmVr h¡ {H$ ‘mo~mBb µ’$moZ/{H$gr AÝ¶ ~oVma g§Mma gmYZ
H$mo pñdM Am°’$ H$aHo$ ̂ r AnZo nmg Z aI|& Bg àmdYmZ H$m AZwnmbZ Z H$aZo H$mo narjm
‘| AZw{MV Cnm¶m| H$m à¶moJ ‘mZm Om¶oJm Am¡a CZHo$ {déÕ H$m¶©dmhr H$s OmEJr, {Og‘|
CZH$s Cå‘rXdmar aÔ H$aZm ^r em{‘b h¡&

11. Aä¶Wu AnZr CÎma erQ> n¶©dojH$ H$mo gm¢no {~Zm Am¡a AnZo amob Z§~a Ho$ gm‘Zo C{MV ñWmZ na
CnpñW{V nÌH$ na hñVmja {H$E {~Zm narjm hm°b/H$j go ~mha Zht Om gH$Vm& BgHo$ Abmdm
Aä¶Wu H$mo CnpñW{V nÌH$ na hñVmja H$aZo go nhbo ¶h ̂ r gw{Z{üV H$aZm Mm{hE {H$ ~wH$boQ>
Z§~a, ~wH$boQ> grarO Am¡a AmooE‘oAmao  CÎma erQ> g§»¶m ghr T>§J go {bIr JB© hmo& Eogm Z H$aZo
na, AmooE‘oAmao CÎma erQ> H$mo A‘mÝ¶ ‘mZm OmEJm/‘yë¶m§H$Z Zht {H$¶m Om gH$Vm h¡&

12. qhXr ̂ mfm ‘| {H$gr ̂ r AñdrH¥${V Ho$ ‘m‘bo ‘|, A§{V‘ ê$n go A§J«oOr g§ñH$aU ‘mÝ¶ hmoJm&
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1. g§gXr¶ g{‘{V Ho$ gXñ¶m| ‘| go Zm¡-½¶mah

nwéf h¢& nwéfm| ‘| go 2/3 amÁ¶g^m go h¢&

BgHo$ Abmdm, Hw$b g{‘{V gXñ¶m| ‘| go 7/

11 amÁ¶g^m go h¢& Hw$b g§»¶m H$m {H$VZm

^mJ bmoH$g^m go ‘{hbmAm| H$m h¡?

(a) 1/11

(b) 6/11

(c) 2/11

(d) 3/11

2. {ZåZ{b{IV ì¶dñWm H$mo Ü¶mZ go n‹T>| Am¡a

àíZ H$m CÎma X| :

2 W U 5 O 1 R T V 4 H 1 0 J P G

3 8 M 7 B Q 6 I Y 9 L X 2 A C

ì¶dñWm ‘| Eogo {H$VZo ñda h¢, {OZ‘| go àË¶oH$

Ho$ nhbo EH$ g§»¶m Am¡a Vwa§V ~mX EH$ ì¶§OZ

h¡?

(a) EH$

(b) Xmo

(c) Xmo go A{YH$

(d) Cnamoº$ ‘| go H$moB© Zht

3. {ZåZ{b{IV l¥§Ibm ‘| JbV g§»¶m H$m nVm

bJmE§ :

115, 131, 152, 179, 215, 263, 326

(a) 115

(b) 131

(c) 263

(d) 326

1. Nine-eleventh of the members of

a parliamentary committee are

men. Of the men, 2/3rd are

from the Rajya Sabha. Further,

7/11 of the total committee

members are from the Rajya

Sabha. What fraction of the total

number are women from the

Lok Sabha?

(a) 1/11

(b) 6/11

(c) 2/11

(d) 3/11

2. Study the following

arrangement carefully and

answer the questions :

2 W U 5 O 1 R T V 4 H 1 0 J P G

3 8 M 7 B Q 6 I Y 9 L X 2 A C

How many such vowels are

there in the arrangement, each

of which is preceded by a

number and immediately

followed by a consonant?

(a) One

(b) Two

(c) More than two

(d) None of the above

3. Find the wrong number in the

following series :

115, 131, 152, 179, 215, 263, 326

(a) 115

(b) 131

(c) 263

(d) 326

PART—A

[GENERIC]

489-A



ST01/39-A ( 3 ) [ P.T.O.

4. EH$ H$jm ‘|, N>mÌ Ho$db agm¶Z {dkmZ,

Ho$db Ord {dkmZ ¶m XmoZm| {df¶ MwZZo Ho$

{bE ñdV§Ì h¢& ¶{X 32 N>mÌm| ‘| go, 16

N>mÌm| Zo agm¶Z {dkmZ Am¡a 25 N>mÌm| Zo Ord

{dkmZ MwZm h¡, Vmo {H$VZo N>mÌm| Zo Ord {dkmZ

MwZm h¡ bo{H$Z agm¶Z {dkmZ Zht?

(a) 7

(b) 9

(c) 16

(d) 25

5. df© 2019 Ho$ {bE, {nN>bo H$m¡Z-go df© H$m

H¡$b§S>a Cn¶moJ {H$¶m Om gH$Vm h¡?

(a) 2011

(b) 2013

(c) 2012

(d) 2014

4. In a class, students are free to

choose only chemistry, only

biology or both the subjects. If

out of 32 students, chemistry

has been chosen by 16 students

and biology by 25 students,

then how many students have

chosen biology but not

chemistry?

(a) 7

(b) 9

(c) 16

(d) 25

5. For the year 2019, which of the

previous year’s calendar can be

used?

(a) 2011

(b) 2013

(c) 2012

(d) 2014

490-A



ST01/39-A ( 4 )

{ZX}e (àíZ g§»¶m 6 go 10) : {ZåZ{b{IV OmZH$mar

H$mo Ü¶mZ go n‹T>o Am¡a {XE JE àíZm| H$m CÎma X| …

AmR> N>mÌ EH$ Jmob ‘oO Ho$ Mmam| Amoa ~¡R>o h¢ {Og‘|

Hw$N> H|$Ð H$s Amoa ‘wI {H$E hþE h¢ O~H$s Hw$N> ~mha

H$s Amoa ‘wI {H$E hþE h¢& E, D Ho$ Xm{hZr Am¡a

Vrgao ñWmZ na ~¡R>Vm h¡& G Am¡a B Ho$ ~rM Ho$db

Xmo bmoJ ~¡>R>Vo h¢ Am¡a XmoZm| EH$ hr {Xem ‘| ‘wI {H$E

hþE h¢& A Cg ì¶{º$ Ho$ ~mBª Amoa Vrgao ñWmZ na

~¡R>Vm h¡ Omo G Ho$ ~mBª Amoa Xÿgao ñWmZ na ~¡R>Vm h¡&

F Z Vmo G H$m Am¡a Z hr B H$m {ZH$Q>V‘ n‹S>mogr

h¡& C, F Ho$ Xm{hZr Amoa {Vgao ñWmZ na ~¡R>Vm h¡

Omo H Ho$ {dnarV ~¡R>Vm h¡& G Am¡a D EH$ hr {Xem

‘| ‘wI {H$E hþE h¢ bo{H$Z C Am¡a A Ho$ {dnarV h¢&

E, H Ho$ Xm{hZr Amoa Xþgao ñWmZ na ~¡R>Vm h¡ Omo

F Ho$ g‘mZ {Xem ‘| ‘wI {H$E hþE h¡& B Am¡a D

EH$ Xþgao H$s Amoa ‘wI {H$E hþE h¢& E H|$Ð H$s Amoa

‘wI {H$E hþE h¡&

6. {ZåZ{b{IV ‘| go H$m¡Z A Ho$ Xm{hZr Amoa

Vrgao ñWmZ na ~¡R>Vm h¡?

(a) E

(b) F

(c) D

(d) G

7. {ZåZ{b{IV ‘| go H$m¡Z C Ho$ {dnarV ~¡R>Vm

h¡?

(a) B

(b) E

(c) H

(d) A

Directions (Q. Nos. 6 to 10) : Study the

following information carefully and

answer the given questions :

Eight students are sitting around a

circular table in which some are

facing towards the center while some

are facing outside the center. E sits

third to the right of D. Only two

persons sit between G and B and both

are facing in the same direction. A sit

third to the right of the one who sits

second to the left of G. F is neither

immediate neighbour of G nor B. C

sits third to the right of F who sits

opposite to H. G is facing same

direction as D but opposite to C and

A. E sits second to the right of H who

is facing same direction as F. B and D

faces each other. E faces towards the

center.

6. Who among the following sits

third to the right of A?

(a) E

(b) F

(c) D

(d) G

7. Who among the following sits

opposite to C?

(a) B

(b) E

(c) H

(d) A
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8. How many persons sit between

D and H, when counting left

of D?

(a) Four

(b) Three

(c) Two

(d) One

9. What is the position of B with

respect to F ?

(a) Third to the left

(b) Immediate right

(c) Immediate left

(d) None of the above

10. How many students are facing

the inside?

(a) One

(b) Four

(c) Three

(d) Two

8. D Ho$ ~m¶t Amoa go {JZZo na D Am¡a H Ho$

~rM {H$VZo ì¶{º$ ~¡R>o h¢?

(a) Mma

(b) VrZ

(c) Xmo

(d) EH$

9. F Ho$ gmnoj B H$s pñW{V ³¶m h¡?

(a) ~mBª Amoa Vrgao ñWmZ na

(b) {ZH$Q>V‘ Xm{hZo

(c) {ZH$Q>V‘ ~mE±

(d) Cnamoº$ ‘| go H$moB© Zht

10. {H$VZo N>mÌ A§Xa H$s Amoa ‘wI {H$E hþE h¢?

(a) EH$

(b) Mma

(c) VrZ

(d) Xmo
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Directions (Q. Nos. 11 to 13) : Study

the following information carefully and

answer the questions given below :

In a certain code language,

‘Masked peace night property’ is

coded as ‘la ja ta sa’.

‘Senior peace property’ is coded as ‘sa

ty ta’.

‘Masked peace science wing’ is coded

as ‘ja sa op nm’.

‘Water save wing’ is coded as ‘op vs rt’.

11. Which of the following

represents the code for ‘night’?

(a) sa

(b) ta

(c) la

(d) ja

12. How is ‘peace’ coded in the

given language?

(a) ja

(b) sa

(c) op

(d) nm

13. What can be the code for ‘Senior

wing science’?

(a) op ja nm

(b) op ta nm

(c) ty nm op

(d) sa ta op

{ZX}e (àíZ g§»¶m 11 go 13) : {ZåZ{b{IV OmZH$mar

H$mo Ü¶mZ go n‹T>o Am¡a {XE JE àíZm| H$m CÎma X| …

EH$ {ZpíMV H$moS> ^mfm ‘|,

‘Masked peace night property’ H$mo ‘la ja

ta sa’ Ho$ ê$n ‘| H$mo{S>V {H$¶m OmVm h¡&

‘Senior peace property’ H$mo ‘sa ty ta’ Ho$

ê$n ‘| H$mo{S>V {H$¶m OmVm h¡&

‘Masked peace science wing’ H$mo ‘ja sa

op nm’ Ho$ ê$n ‘| H$mo{S>V {H$¶m OmVm h¡&

‘Water save wing’ H$mo ‘op vs rt’ Ho$ ê$n ‘|

H$mo{S>V {H$¶m OmVm h¡&

11. {ZåZ{b{IV ‘| go H$m¡Z-gm ‘night’ H$m H$moS>

h¡?

(a) sa

(b) ta

(c) la

(d) ja

12. {XE JE ^mfm ‘| ‘peace’ H$mo H¡$go H$moS>

{H$¶m OmVm h¡?

(a) ja

(b) sa

(c) op

(d) nm

13. ‘Senior wing science’ H$m H$moS> ³¶m

hmo gH$Vm h¡?

(a) op ja nm

(b) op ta nm

(c) ty nm op

(d) sa ta op
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14. Three friends R, S and T shared
toffee from a bowl. R took 1/3rd
of the toffees but returned four
to the bowl. S took 1/4th of the
remaining toffees but returned
three toffees back to the bowl.
T took half of the remainder but
returned two toffees back into the
bowl. If the bowl had 17 toffees
left, how many toffees were there
originally in the bowl?

(a) 48

(b) 36

(c) 39

(d) 42

15. The following question is
accompanied by two statements.
You have to determine which
statement(s) is/are sufficient/
necessary to answer the given
question :

What is the selling price of an
article if the ratio of marked
price to that of the cost price of
the article is 8 : 5?
Statement–I : On article, first
discount of 20% and then
discount of 10% is given and
difference between these

discounts is < 192.

Statement–II : Difference
between marked price and the

cost price of that article is < 600

and the profit percent earned
on selling the article is 15·2%.

(a) Statement–I alone is
sufficient to answer the
question

(b) Statement–II alone is
sufficient to answer the
question

(c) Either Statement–I or
Statement–II by itself is
sufficient to answer the
question

(d) Both Statements taken
together are necessary to
answer the question

14. VrZ XmoñV R, S Am¡a T Zo EH$ H$Q>moao go Q>m°’$s
~m§Q>r& R Zo Q>m°{’$¶m| H$m 1/3 {hñgm {b¶m
bo{H$Z Mma H$mo H$Q>moao ‘| dmng aI {X¶m& S

Zo ~Mr hþB© Q>m°{’$¶m| H$m 1/4 {hñgm {b¶m
bo{H$Z VrZ Q>m°{’$¶m§ dmng H$Q>moao ‘| aI Xr&
T Zo ~Mo hþE H$m AmYm {hñgm {b¶m bo{H$Z
Xmo Q>m°{’$¶m§ dmng H$Q>moao ‘| aI Xt& AJa H$Q>moao
‘| 17 Q>m°{’$¶m ~Mr h¢, Vmo ‘yb ê$n go H$Q>moao
‘| {H$VZr Q>m°{’$¶m§ Wt?

(a) 48

(b) 36

(c) 39

(d) 42

15. {ZåZ{b{IV àíZ Xmo ñQ>oQ>‘|Q> Ho$ gmW AmVm h¡&
AmnH$mo ¶h {ZYm©[aV H$aZm h¡ {H$ {XE JE
àíZ H$m CÎma XoZo Ho$ {bE H$m¡Z-gm/H$m¡Z-go
ñQ>oQ>‘|Q> n¶m©á/Amdí¶H$ h¡/h¢ :

{H$gr dñVw H$s {dH«$¶ ‘yë¶ ³¶m h¡ ¶{X dñVw Ho$
A§{H$V ‘yë¶ Am¡a bmJV ‘yë¶ H$m AZwnmV 8 : 5

h¡?

ñQ>oQ>‘|Q>–I : dñVw na nhbo 20% H$s Ny>Q> Am¡a
{’$a 10% H$s Ny>Q> Xr JB© h¡ Am¡a BZ Ny>Q>m| Ho$
~rM H$m A§Va < 192 h¡&

ñQ>oQ>‘|Q>–II : dñVw Ho$ A§{H$V ‘yë¶ Am¡a bmJV
‘yë¶ Ho$ ~rM H$m A§Va < 600 h¡ Am¡a dñVw H$mo
~oMZo na 15·2% H$m bm^ hþAm&

(a) Ho$db ñQ>oQ>‘|Q>–I àíZ H$m CÎma XoZo Ho$
{bE n¶m©á h¡

(b) Ho$db ñQ>oQ>‘|Q>–II àíZ H$m CÎma XoZo Ho$
{bE n¶m©á h¡

(c) ¶m Vmo ñQ>oQ>‘|Q>–I ¶m ñQ>oQ>‘|Q>–II AnZo
Amn ‘| àíZ H$m CÎma XoZo Ho$ {bE n¶m©á
h¡

(d) XmoZm| ñQ>oQ>‘|Q> H$mo {‘bmH$a CÎma XoZo Ho$
{bE Amdí¶H$ h¡
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Directions (Q. Nos. 16 to 20) : Read the

following information carefully and

answer the questions given below

There are five friends A, B, C, D and

E who work in different posts in the

same office. They spend their salary

only on food and rent. The money

spent on food by A is equal to money

spent by B on rent. The ratio of

money spent on food and rent by C

and E is in the ratio of 3 : 5 and 2 : 3

respectively. The money spent on rent

by A, C and D are in the ratio of

3 : 2 : 1 and the ratio of money spent

on food by B and D is 3 : 7. The ratio

of salary of A, B, D and E is

11 : 8 : 9 : 10 and the salary of E is

< 50,000 out of < 2,20,000.

16. Find the ratio of salary of C and

A together and salary of B and

D together.

(a) 87 : 85

(b) 85 : 73

(c) 85 : 87

(d) 23 : 31

17. The amount spent on rent by C

is what percent of amount spent

by D on rent?

(a) 200%

(b) 220%

(c) 110%

(d) 155%

{ZX}e (àíZ g§»¶m 16 go 20) : {ZåZ{b{IV OmZH$mar

H$mo Ü¶mZ go n‹T>| Am¡a {XE JE àíZm| H$m CÎma X|&

nm§M XmoñV A, B, C, D Am¡a E EH$ hr H$m¶m©b¶

‘| {d{^Þ nXm| na H$m‘ H$aVo h¢& do Ho$db ^moOZ Am¡a

{H$amE na AnZr doVZ IM© H$aVo h¢& A Ûmam ^moOZ

na IM© H$s JB© am{e B Ûmam {H$amE na IM© H$s JB©

am{e Ho$ ~am~a h¡& C Am¡a E Ûmam ^moOZ Am¡a {H$amE

na IM© H$s JB© am{e H$m AZwnmV H«$‘e… 3 : 5 Am¡a

2 : 3 h¡& A, C Am¡a D Ûmam {H$amE na IM© H$s

JB© am{e H$m AZwnmV H«$‘e… 3 : 2 : 1 h¡ Am¡a B

Am¡a D ×mam ^moOZ na IM© H$s JB© am{e H$m AZwnmV

3 : 7 h¡& A, B, D Am¡a E Ho$ doVZ H$m AZwnmV

11 : 8 : 9 : 10 h¡ VWm E H$m doVZ

< 2,20,000 ‘| go < 50,000 h¡&

16. C Am¡a A Ho$ Hw$b doVZ Am¡a B Am¡a D Ho$

Hw$b doVZ H$m AZwnmV ³¶m h¡?

(a) 87 : 85

(b) 85 : 73

(c) 85 : 87

(d) 23 : 31

17. C Ûmam {H$amE na IM© H$s JB© am{e D Ûmam

{H$amE na IM© H$s JB© am{e H$m$ {H$VZm

à{VeV h¡?

(a) 200%

(b) 220%

(c) 110%

(d) 155%
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18. The sum of money spent on food

by A, B and C is how much

more than sum of money spent

on rent by D and E ?

(a) < 10,000

(b) < 11,000

(c) < 12,000

(d) < 11,500

19. Find the difference between

average salary of B and C

together and D and E together.

(a) < 21,230

(b) < 23,456

(c) < 12,345

(d) < 11,500

20. Find the sum of 50% of total

money spent on rent and 30%

of total money spent on food

(a) < 11,230

(b) < 89,600

(c) < 34,000

(d) < 33,200

18. A, B Am¡a C Ûmam ^moOZ na IM© H$s JB©

am{e D Am¡a E Ûmam {H$amE na IM© H$s JB©

am{e go {H$VZr A{YH$ h¡?

(a) < 10,000

(b) < 11,000

(c) < 12,000

(d) < 11,500

19. B Am¡a C Ho$ g§¶wº$ Am¡gV doVZ Am¡a D Am¡a

E Ho$ g§¶wº$ Am¡gV doVZ Ho$ ~rM H$m A§Va

{H$VZm h¡?

(a) < 21,230

(b) < 23,456

(c) < 12,345

(d) < 11,500

20. {H$amE na IM© H$s JB© Hw$b am{e H$m 50%

Am¡a ^moOZ na IM© H$s JB© Hw$b am{e H$m

30% H$m ¶moJ {H$VZm h¡?

(a) < 11,230

(b) < 89,600

(c) < 34,000

(d) < 33,200
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21. If it is possible to make a

meaningful word from 2nd, 3rd,

5th and 6th letters of word

‘COMPREHENSIVE’, then which

will be the third letter of that

meaningful word. If no such

meaningful word is formed then

mark the answer as Y. If more

than one meaningful word is

found then mark the answer

as X.

(a) O

(b) X

(c) Y

(d) R

22. At the end of the business

conference, all the ten people

present shake their hands with

each other once. How many

handshakes were there all

together?

(a) 35

(b) 45

(c) 55

(d) 60

23. Find the value of ? in the given

question :

{ }1
2

?
(3) (3 3) (9 27) ( 243)

+
= × ×√ √ √

(a) 6·5

(b) 7

(c) 5·5

(d) 5

21. ¶{X ‘COMPREHENSIVE’ eãX Ho$

2nd, 3rd, 5th Am¡a 6th Ajam| go EH$

AW©nyU© eãX ~ZmZm g§̂ d h¡, Vmo Cg AW©nyU©

eãX H$m Vrgam Aja H$m¡Z-gm hmoJm? ¶{X

Eogm H$m¡B© AW©nyU© eãX Zht ~ZVm h¡ Vmo CÎma

Y Ho$ ê$n ‘| A§{H$V H$a|& ¶{X EH$ go A{YH$

AW©nyU© eãX {‘bVo h¢ Vmo CÎma X Ho$ ê$n ‘|

A§{H$V H$a|&

(a) O

(b) X

(c) Y

(d) R

22. ì¶mdgm{¶H$ gå‘obZ Ho$ A§V ‘|, dhm§

CnpñWV g^r Xg bmoJ EH$-Xÿgao go EH$ ~ma

hmW {‘bmVo h¢& Hw$b {‘bmH$a {H$VZo hmW

{‘bmE JE?

(a) 35

(b) 45

(c) 55

(d) 60

23. {XE JE àíZ ‘| ? H$m ‘mZ h¡

{ }1
2

?
(3) (3 3) (9 27) ( 243)

+
= × ×√ √ √

(a) 6·5

(b) 7

(c) 5·5

(d) 5
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24. If S PQR QRP RPQ= + +  where P,

Q and R are decimal digits, then

S is divisible by

(a) 37 and 29

(b) 37 but not 29

(c) 29 but not 37

(d) Neither 37 nor 29

25. Hands of a clock that would be

at right angle in 24 hours is

(a) 44 times

(b) 48 times

(c) 88 times

(d) 96 times

26. If the circumference and the

area of a circle are numerically

equal, then what is the diameter

equal to?

(a) /2π

(b) 2π

(c) 2

(d) 4

24. ¶{X S PQR QRP RPQ= + +  h¡ Ohm§

P, Q Am¡a R Xe‘bd A§H$ h¢, Vmo S

{d^mÁ¶ h¡

(a) 37 Am¡a 29 XmoZm| go

(b) 37 bo{H$Z 29 go Zht

(c) 29 bo{H$Z 37 go Zht

(d) Z Vmo 37 go Am¡a Z hr 29 go

25. 24 K§Q>o ‘| K‹S>r H$s gwB¶m© g‘H$moU ~mVm h¡

(a) 44 ~ma

(b) 48 ~ma

(c) 88 ~ma

(d) 96 ~ma

26. ¶{X {H$gr d¥Îm H$s n[a{Y Am¡a joÌ’$b

g§»¶mË‘H$ ê$n go ~am~a h¢, Vmo ì¶mg {H$gHo$

~am~a h¡?

(a) /2π

(b) 2π

(c) 2

(d) 4
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27. AmH¥${V¶m| H$s EH$ l¥§Ibm àXmZ H$s JB© h¡

{Ogo 3 dJm] ‘| dJuH¥$V {H$¶m Om gH$Vm h¡&

ghr g‘yh ‘| go MyZ|&

(a) 3, 7, 8; 4, 5, 9; 1, 2, 6

(b) 1, 5, 8; 2, 6, 7; 3, 4, 9

(c) 1, 5, 8; 2, 4, 9; 3, 6, 7

(d) 2, 4, 9; 6, 7, 8; 1, 3, 5

28. EH$ g§»¶m H$m 37% Am¡a Cgr g§»¶m H$m

42% H$m Omo‹S> 150·1 h¡& Cg g§»¶m H$m

73% {H$VZm h¡?

(a) 149·6

(b) 154·5

(c) 165·4

(d) 138·7

27. A series of figures are provided

that can be classified into 3

classes. Choose from the correct

group :

(a) 3, 7, 8; 4, 5, 9; 1, 2, 6

(b) 1, 5, 8; 2, 6, 7; 3, 4, 9

(c) 1, 5, 8; 2, 4, 9; 3, 6, 7

(d) 2, 4, 9; 6, 7, 8; 1, 3, 5

28. The sum of 37% of a number

and 42% of the same number is

150·1. What is the 73% of that

number?

(a) 149·6

(b) 154·5

(c) 165·4

(d) 138·7
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29. ‘mZ br{OE m Am¡a n Xmo YZmË‘H$ nyUmªH$
h¢ Vm{H$ m + n + mn = 118 hmo& Vmo
m n+  H$m ‘mZ ³¶m h¡?

(a) 18

(b) 22

(c) 24

(d) {ZYm©[aV Zht {H$¶m Om gH$Vm

30. ZrMo {X¶m J¶m àíZ Xmo H$WZm| go ~Zm h¡,
{OZH$s g§»¶m I Am¡a II h¡& AmnH$mo ¶h {ZU©¶
boZm h¡ {H$ ³¶m {XE JE H$WZm| ‘| àñVwV
Am§H$‹S>o àíZ H$m CÎma XoZo Ho$ {bE n¶m©á h¢ :

N>h ~³go A, B, C, D, E Am¡a F EH$ Xþgao Ho$
D$na aIo JE h¢ Vm{H$ g~go ZrMo dmbm ~m°³g Z§~a
1 h¡ O~{H$ g~go D$na dmbm ~m°³g Z§~a 6 h¡
bo{H$Z Oéar Zht {H$ Bgr H«$‘ ‘| hm|& ~m°³g C Ho$
R>rH$ ZrMo H$m¡Z-gm ~m°³g aIm h¶m h¡?

H$WZ–I : ~m°³g A R>rH$ ~m°³g B Ho$ D$na h¡, Omo
EH$ {df‘ g§»¶m dmbm ~m°³g D, ~m°³g F Ho$
VrZ ~m°³g D$na h¡ bo{H$Z g~go D$na dmbm ~m°³g
Zht h¡& ~m°³g E R>rH$ ~m°³g C Ho$ D$na h¡&

H$WZ>–II : ~m°³g A, ~m°³g E go VrZ ~m°³g
D$na h¡& ~m°³g B, ~m°³g E Ho$ D$na h¡& ~m°³g
F, ~m°³g E Ho$ ZrMo h¡&

(a) Ho$db H$WZ–I ‘| Am§H$‹S>o àíZ H$m CÎma
XoZo Ho$ {bE n¶m©á h¢, O~{H$ H$WZ–II

‘| Am§H$‹S>o à¶m©á Zht h¢

(b) Ho$db H$WZ–II ‘| Am§H$‹S>o àíZ H$m CÎma
XoZo Ho$ {bE n¶m©á h¢, O~{H$ H$WZ–I ‘|
Am§H$‹S>o n¶m©á Zht h¢

(c) àíZ H$m CÎma XoZo Ho$ {bE XmoZm|
H$WZm|–I Am¡a II ‘| Am§H$‹S>o n¶m©á Zht h¢

(d) àíZ H$m CÎma XoZo Ho$ {bE XmoZm|
H$WZm|–I Am¡a II ‘| Am§H$‹S>o EH$ gmW
Amdí¶H$ h¢

29. Let m and n be two positive integers
such that m + n + mn = 118.

Then the value of ?m n+ =

(a) 18

(b) 22

(c) 24

(d) cannot be determined

30. The question given below consists
of two statements numbered
I and II. You have to decide
whether the data provided in the
statements are sufficient to
answer the question :

Six boxes A, B, C, D, E and F
are kept one above one another
such that bottom-most box is
numbered as 1 while the top-
most box is numbered as 6 but
not necessarily in the same
order. Which box is kept just
below box C?

Statement–I : Box A is just above
box B, which is an odd number
box. Box D is three boxes above
box F but not the topmost box.
Box E is just above box C.

Statement–II : Box A is three
boxes above box E. Box B is above
box E. Box F is below box E.

(a) The data in Statement–I
alone is sufficient to answer
the question, while data in
Statement–II alone is not
sufficient to answer the
question

(b) The data in Statement–II
alone is sufficient to answer
the question, while data in
Statement–I alone is not
sufficient to answer the
question

(c) The data in both Statements–
I and II are not sufficient to
answer the question

(d) The data in both Statements–
II and II together are necessary
to answer the question
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31. ¶{X 3 2 18 50 15 55+ + = ⋅√ √ √  h¢,

Vmo 32 72+√ √  H$m ‘mZ ³¶m h¡?

(a) 13·22

(b) 10·83

(c) 14·13

(d) 16·54

32. Xmo g§»¶mAm| 983713 Am¡a 983719 Ho$

JwU’$b ‘| ³¶m Omo‹S>m OmE Vm{H$ ¶h EH$ nyU©

dJ© ~Z OmE?

(a) 27

(b) 19

(c) 13

(d) 9

33. dm{f©H$ ê$n go MH«$d¥{Õ ã¶mO H$s JUZm H$aZo

na, {H$gr am{e na 10% à{V df© H$s Xa

go 2 dfm] Ho$ {bE gmYmaU ã¶mO Am¡a

MH«$d¥{Õ ã¶mO Ho$ ~mM H$m A§Va < 28 h¡&

¶{X dm{f©H$ ã¶mO AY©dm{f©H$ ê$n go g§¶mo{OV

{H$¶m OmE, Vmo XmoZm| ã¶mOm| Ho$ ~rM H$m A§Va

hmoJm

(a) < 44·11

(b) < 43·41

(c) < 38·33

(d) < 41·29

31. If 3 2 18 50 15 55+ + = ⋅√ √ √ , then

what is the value of 32 72+√ √ ?

(a) 13·22

(b) 10·83

(c) 14·13

(d) 16·54

32. What should be added to the

product of the two numbers

983713 and 983719 to make it

a perfect square?

(a) 27

(b) 19

(c) 13

(d) 9

33. The difference between the

compound interest and the

simple interest on a sum for 2

years at 10% per annum, when

the interest is compounded

annually is < 28. If the yearly

interest were compounded half-

yearly, the difference in the two

interest would be

(a) < 44·11

(b) < 43·41

(c) < 38·33

(d) < 41·29
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{ZX}e (àíZ g§»¶m 34 go 38) : ZrMo {XE JE AZwÀN>oX

H$mo n‹T>| Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma X| …

VrZ CËnmX EH$ XþH$mZ na CnbãY h¢—noñQ´>r, n¡Q>r

Am¡a Ho$H$& Ho$db Ho$H$, Ho$db noñQ´>r Am¡a Ho$db n¡Q>r

IarXZo dmbo bmoJm| H$m AZwnmV H«$‘e… 5 : 8 : 4 h¡&

{OZ bmoJm| Zo Ho$H$ Am¡a noñQ´>r XmoZm| IarXo bo{H$Z n¡Q>r

Zht IarXr, do CZ bmoJm| H$m 50% h¢ {OÝhm|Zo noñQ´>r

Am¡a n¡Q>r XmoZm| IarXo bo{H$Z Ho$H$ Zht IarXm& {OZ

bmoJm| Zo Ho$H$ Am¡a n¡Q>r XmoZm| IarXo bo{H$Z noñQ´>r Zht

IarXr, do CZ bmoJm| go 50% A{YH$ h¡ {OÝhm|Zo Ho$H$

Am¡a noñQ´>r XmoZm| IarXo bo{H$Z n¡Q>r Zht Iar{X& {OZ

bmoJm| Zo VrZm| CËnmX EH$ gmW IarXo, do Ho$db Ho$H$

IarXZo dmbo bmoJm| H$m 10% h¢& Ho$H$ IarXZo dmbo

bmoJm| H$s Hw$b g§»¶m 800 h¡ Am¡a n¡Q>r IarXZo dmbo

bmoJm| H$s Hw$b g§»µ¶m 800 h¡&

34. Ho$H$ Am¡a noñQ´>r XmoZm| IarXZo dmbo Hw$b bmoJ

{H$VZo h¢?

(a) 100

(b) 150

(c) 120

(d) 90

35. {OZ bmoJm| Zo noñQ´>r Am¡a n¡Q>r XmoZm| IarXo

bo{H$Z Ho$H$ Zht IarXm, do Ho$db Ho$H$

IarXZo dmbo bmoJm| H$m {H$VZm à{VeV h¡?

(a) 50%

(b) 30%

(c) 20%

(d) 40%

Directions (Q. Nos. 34 to 38) : Read

the passage given below and answer

the following questions :

Three products are available on a

shop—Pastry, Patty and Cake. Ratio

of number of people who bought only

Cake, only Pastry and only Patty is

5 : 8 : 4 respectively. People who

bought both Cake and Pastry but not

Patty are 50% of people who bought

both Pastry and Patty but not Cake.

People who bought both Cake and

Patty but not Pastry are 50% more

than people who bought both Cake

and Pastry but not Patty. People who

bought all three products together are

10% of people who bought only Cake.

Total number of people who bought

Cake is 800 and total number of

people wo bought Patt is 800.

34. Find the total number of people

who bought both cake and

pastry?

(a) 100

(b) 150

(c) 120

(d) 90

35. People who bought both pastry

and patty but not cake are what

percent of people who bought

only cake?

(a) 50%

(b) 30%

(c) 20%

(d) 40%
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36. Ho$db noñQ´>r IarXZo dmbo bmoJm| H$s Hw$b g§»¶m

CZ bmoJm| H$s g§»¶m go {H$VZr A{YH$ h¡

{OÝhm|oZo Ho$H$ Am¡a n¡Q>r XmoZm| IarXo bmo{H$Z

noñQ´>r Zht IarXr?

(a) 650

(b) 670

(c) 750

(d) 720

37. Hw$b {H$VZo bmoJ noñQ´>r IarXVo h¢?

(a) 1050

(b) 1100

(c) 1150

(d) 1000

38. Hw$b {H$VZo bmoJ H$‘ go H$‘ Xmo CËnmX IarXVo

h¢?

(a) 580

(b) 550

(c) 460

(d) 500

36. Find total number of people who

bought only pastry, and are how

much more than number of

people who bought both cake

and patty but not pastry.

(a) 650

(b) 670

(c) 750

(d) 720

37. Find the total number of people

who bought pastry.

(a) 1050

(b) 1100

(c) 1150

(d) 1000

38. Find the total number of people

who bought at least two

products.

(a) 580

(b) 550

(c) 460

(d) 500
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39. {XE JE l¥§Ibm ‘| JbV g§»¶m H$m nVm

bJmE§ :

48, 26, 28, 44, 88, 227, 683

(a) 683

(b) 90

(c) 28

(d) 48

40. 44 {Ibm{‹S>¶m| Ho$ EH$ g‘yh ‘|, 26 hm°H$s

IobVo h¢, 24 ’w$Q>~m°b IobVo h¢ Am¡a 24

{H«$Ho$Q> IobVo h¢& CZ‘| go AmR> hm°H$s Am¡a

’w$Q>~m°b XmoZm| IobVo h¢, ~mah ’w$Q>~m°b Am¡a

{H«$Ho$Q> XmoZm| IobVo h¢ Am¡a nm§M {VZm| Iob

IobVo h¢& {H$VZo bmoJ$ {H«$Ho$Q> Am¡a hm°H$s XmoZm|

IobV¡ h¢?

(a) 15

(b) 10

(c) 7

(d) Cnamoº$ ‘| go H$moB© Zht

41. S>oQ>m l¥§Ibm 7, 10, 6, 72, 83, 60, 12,

5 H$s a|O ³¶m h¡?

(a) 78

(b) 11

(c) 48

(d) 73

39. Find the wrong number in the

given series :

48, 26, 28, 44, 88, 227, 683

(a) 683

(b) 90

(c) 28

(d) 48

40. In a group of 44 players, 26 play

hockey, 24 play football and

24 play cricket. Eight of them

play both hockey and football,

twelve play both football and

cricket and five play all three of

them. How many plays both

cricket and hockey?

(a) 15

(b) 10

(c) 7

(d) None of the above

41. The range of the data series

7, 10, 6, 72, 83, 60, 12, 5 is

(a) 78

(b) 11

(c) 48

(d) 73

492-A
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42. {ZåZ{b{IV l¥§Ibm H$m ¶moJ h¡

1 1 2 3 4 5 6 20 ?+ − + − + − + − =⋯

(a) –9

(b) –10

(c) 10

(d) 11

43. ‘mÌm>–I :

A‘Z Zo 16% à{V df© H$s Xa go

< 1,00,000 H$m {Zdoe {H$¶m& nhbo

df© Ho$ Xm¡amZ ã¶mO AY©dm{f©H$ ê$n go

g§¶mo{OV Wm Am¡a Xþgao Am¡a Vrgao df© ‘|

dm{f©H$ ê$n go g§¶mo{OV Wm& 3 df© Ho$ A§V

VH$ àmá Hw$b ã¶mO {H$VZm hmoJm?

‘mÌm>–II :

< 2,30,000 H$s am{e na N dfm] Ho$

Xm¡amZ 23% à{V df© H$s Xa go àmá

gmYmaU ã¶mO < 4,23,000 h¡& Cgr

am{e na N/4 dfm] ‘| 11% à{V df© H$s

Xa go dm{f©H$ ê$n go g§¶mo{OV hmoH$a àmá

MH«$d¥{Õ ã¶mO kmV H$s{OE&

(a) ‘mÌm>–I < ‘mÌm>–II

(b) ‘mÌm>–I > ‘mÌm>–II

(c) ‘mÌm>–I ≤ ‘mÌm>–II

(d) ‘mÌm>–I ≥ ‘mÌm>–II

42. The sum of following series is

1 1 2 3 4 5 6 20 ?+ − + − + − + − =⋯

(a) –9

(b) –10

(c) 10

(d) 11

43. Quantity–I :

Aman invested < 1,00,000 at

the rate of 16% p.a. The

interest was compounded

half-yearly during the first

year and annually in the

second and third year. What

will be the total interest

received by the end of 3

years?

Quantity–II :

The simple interest received

on a sum of < 2,30,000 at

the rate of 23% p.a. during

N years is < 4,23,200. Find

the compound interest

received on the same sum in

N/4 years at the rate of 11%

p.a. compounded annually.

(a) Quantity–I < Quantity–II

(b) Quantity–I > Quantity–II

(c) Quantity–I ≤ Quantity–II

(d) Quantity–I ≥ Quantity–II

493-A
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44. VrZ gmb nhbo, Xmo ^mB¶m| Ho$ C‘« ‘| 2 gmb

H$m A§Va Wm& CZH$s dV©‘mZ C‘« H$m ¶moJ 10

dfm] ‘| XmoJwZm hmo OmEJm& ~‹S>o ^mB H$s dV©‘mZ

C‘« ³¶m h¡?

(a) 6

(b) 11

(c) 7

(d) 9

45. d¥Îm H$s KyUu g‘{‘{V H$m H«$‘ ³¶m h¡?

(a) 2

(b) 4

(c) 1

(d) AZ§V

46. ¶{X cos sin 2sinα − α = α  hmo Vmo

cos sinα + α  H$m ‘mZ ³¶m hmoJm?

(a) 3 sinα

(b) 2sinα

(c) 2 cos α

(d) sinα

47. {ZåZ{b{IV g§»¶mAm| Ho$ AZwH«$‘ ‘| {H$VZo

AmR> ‘m¡OwX h¢ Omo {~ëHw$b ^mÁ¶ h¡ CgHo$

{nN>bo Am¡a AJbo XmoZm| g§»¶mAm| go?

3 8 6 8 8 7 6 8 3 4 8 2 5 6

2 8 2 4 8 6 3 7 4 8 4 5 8 4

(a) 5

(b) 6

(c) 2

(d) 4 go H$‘

44. Three years ago, the difference

in the ages of two brothers was

2 years. The sum of their

present ages will double in

10 years. What is the present

age of the elder brother?

(a) 6

(b) 11

(c) 7

(d) 9

45. The order of rotational

symmetry of a circle is

(a) 2

(b) 4

(c) 1

(d) infinite

46. If cos sin 2sinα − α = α , then

the value of cos sinα + α  will be

(a) 3 sinα

(b) 2sinα

(c) 2 cos α

(d) sinα

47. How many 8’s are present in the

following sequence of numbers

which are exactly divisible by

both its preceding and following

numbers?

3 8 6 8 8 7 6 8 3 4 8 2 5 6

2 8 2 4 8 6 3 7 4 8 4 5 8 4

(a) 5

(b) 6

(c) 2

(d) Less than 4
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48. Rearrange the following parts

of the sentence in correct

order :

Job seekers are not

P. being unemployed are a test

of faith

Q. self-purification, whether

the difficulties of

R. relentlessly to a pilgrimage

of

S. fatalistic but reapply

themselves

(a) SPQR

(b) PQSR

(c) SRQP

(d) RPSQ

49. Select the most appropriate

antonym of the given word :

GENIAL

(a) Stupid

(b) Stingy

(c) Boorish

(d) Unkind

50. He paid me left handed

compliment. Which is related to

this idiom?

(a) An honest

(b) A well deserved

(c) An insincere

(d) A flattering

495-A
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51. Which of the following is true

regarding the Von Neumann

architecture?

(a) It uses a Harvard architec-

ture with separate memory

spaces for instructions and

data

(b) It employs a single bus for

both data and instructions

(c) It features multiple buses for

parallel data and instruction

fetching

(d) It is characterized by a

distributed memory system

52. What is the purpose of

pipelining in CPU architecture?

(a) To increase clock speed and

improve processing power

(b) To divide the execution of

instructions into multiple

stages to improve efficiency

(c) To facilitate parallel

processing of multiple

instructions simultaneously

(d) To reduce power

consumption and heat

generation

53. Which of the following is a

characteristic of a RISC

(Reduced Instruction Set

Computer) architecture?

(a) Complex and variable-

length instructions

(b) Large instruction set

supporting diverse operations

(c) Emphasis on simplicity and

efficiency of instructions

(d) Greater hardware complexity

with microprogramming

51. dm°Z Ý¶y‘¡Z Am{H©$Q>o³Ma Ho$ ~mao ‘| {ZåZ{b{IV
‘| go H$m¡Z-gm gË¶ h¡?

(a) ¶h EH$ hmd©S>© Am{H©$Q>o³Ma H$m Cn¶moJ
H$aVm h¡ {Og‘| {ZX}em| Am¡a S>oQ>m Ho$ {bE
AbJ-AbJ ‘o‘moar ñnog hmoVo h¢

(b) ¶h S>oQ>m Am¡a {ZX}em| XmoZm| Ho$ {bE EH$
hr ~g H$m Cn¶moJ H$aVm h¡

(c) Bg‘| g‘mZm§Va S>oQ>m Am¡a {ZX}e àmá
H$aZo Ho$ {bE H$B© ~g| hmoVr h¢

(d) ¶h EH$ {dV[aV ‘o‘moar {gñQ>‘ Ûmam
{deofVm h¡

52. grnr¶y Am{H©$Q>o³Ma ‘| nmBnbmBqZJ H$m CÔoí¶
³¶m h¡?

(a) ³bm°H$ ñnrS> ~‹T>mZo Am¡a àmogoqgJ nmda
gwYmaZo Ho$ {bE

(b) {ZX}em| Ho$ {ZînmXZ H$mo H$B© MaUm| ‘|
{d^m{OV H$aHo$ XjVm ~‹T>mZo Ho$ {bE

(c) EH$ gmW H$B© {ZX}em| Ho$ g‘mZm§Va
àmogoqgJ H$mo gw{dYmOZH$ ~ZmZo Ho$ {bE

(d) {~Obr H$s InV Am¡a J‘u CËnmXZ H$mo
H$‘ H$aZo Ho$ {bE

53. {ZåZ{b{IV ‘| go H$m¡Z-gm EH$ AmaAmB©Eggr
([aS>çyñS> B§ñQ´>³eZ goQ> H§$ß¶yQ>a) Am{H©$Q>o³Ma
H$s {deofVm h¡?

(a) O{Q>b Am¡a n[adV©Zr¶ b§~mB© Ho$ {ZX}e

(b) {d{^Þ g§MmbZ H$m g‘W©Z H$aZo dmbm
~‹S>m {ZX}e goQ>

(c) {ZX}em| H$s gmXJr Am¡a XjVm na Omoa

(d) ‘mBH«$moàmoJ«mq‘J Ho$ gmW A{YH$ hmS>©do¶a
O{Q>bVm

PART—B

[CS]
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54. C ^mfm ‘| int S>mQ>mQ>mBn Ûmam g§J«hrV {H$E

Om gH$Zo dmbo ‘mZm| H$s loUr ³¶m h¡?

(a) 31 31(2 )  (2 ) 1− −go

(b) 256  255− go

(c) 63 63(2 )  (2 ) 1− −go

(d) 310  (2 ) 1−go

55. Ho$g g|{g{Q>d àmoJ«mq‘J ^mfm Ho$ g§X ©̂ ‘|,

{ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ JbV h¡?

(a) A2BC Am¡a A2BC Xmo AbJ-AbJ

AmBS>|{Q>’$m¶g© h¢

(b) A2BC Am¡a A2BC EH$ g‘mZ

AmBS>|{M’$m¶g© h¢

(c) A2BC Am¡a A2bC Xmo AbJ-AbJ

AmBS>|{Q>’$m¶g© h¢

(d) A2BC Am¡a A2Bc Xmo AbJ-AbJ

AmBS>|{Q>’$m¶g© h¢

56. àmoJ«mq‘J ^mfm Ho$ g§X ©̂ ‘|, {ZåZ{b{IV ‘| go

{H$g S>oQ>m àH$ma H$m Cn¶moJ nyU© g§»¶mAm| H$mo

g§J«hrV H$aZo Ho$ {bE {H$¶m OmVm h¡?

(a) pñQ́>̈J

(b) ~y{b¶Z

(c) B§{Q>Oa

(d) âbmoQ>

54. What is the range of values that

can be stored by int datatype

in C?

(a) 31 31(2 ) to (2 ) 1− −

(b) 256 to 255−

(c) 63 63(2 ) to (2 ) 1− −

(d) 310 to (2 ) 1−

55. In context of case sensitive

programming language, which

of the following statements is

false?

(a) A2BC and A2BC are two

different identifiers

(b) A2BC and A2BC are same

identifiers

(c) A2BC and A2bC are two

different identifiers

(d) A2BC and A2Bc are two

different identifiers

56. In context of programming

language, which of the following

datatype is used to store whole

numbers?

(a) String

(b) Boolean

(c) Integer

(d) Float
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57. {ZåZ{b{IV C ’§$³eZ na {dMma H$a| :

int f(int n)

{

static int r = 0;

if (n <= 0) return 1;

if (n > 3)

{

r = n;

return f(n – 2) + 2;

}

return f(n – 1) + r;

}

f(5) H$m ‘mZ ³¶m h¡?

(a) 5

(b) 7

(c) 9

(d) 18

58. àmoJ«mq‘J ‘| AZ§V byn ³¶m h¡?

(a) EH$ byn Omo EH$ {ZpíMV g§»¶m ‘| ~ma-

~ma Xmoham¶m OmVm h¡

(b) EH$ byn Omo H$^r Q>{‘©ZoQ> Zht hmoVm

³¶m|{H$ BgH$s H§$S>reZ h‘oem Q¯> hmoVr h¡

(c) EH$ byn Omo EH$ ~ma AmB©Q>aoQ> hmoVm h¡

(d) EH$ byn {Og‘| H$moB© ~m°S>r Zht hmoVr

57. Consider the following C

function :

int f(int n)

{

static int r = 0;

if (n <= 0) return 1;

if (n > 3)

{

r = n;

return f(n – 2) + 2;

}

return f(n – 1) + r;

}

What is the value of f(5)?

(a) 5

(b) 7

(c) 9

(d) 18

58. What is an infinite loop in

programming?

(a) A loop that repeats a fixed

number of times

(b) A loop that never terminates

because its condition is

always true

(c) A loop that performs a

single iteration

(d) A loop that has no body



ST01/39-A ( 24 )

59. {ZåZ{b{IV C ’§$³eZ na {dMma H$a| …  ¡
float f, (float x, int y) {

float p, s; int i;

for (s=1, p=1, i=1; i<y;

i++){

p* =x/i;

s+=p;

}

return s;

}

y Ho$ ~‹S>o ‘mZm| Ho$ {bE, ’§$³eZ f H$m [aQ>Z©

d¡ë¶y g~go AÀN>m _____ Ho$ H$ar~ hmoVm h¡&

(a) yX

(b) xe

(c) log x

(d) xX

60. àmoJ«mq‘J ‘| Eoao ³¶m h¡?

(a) EH$ àH$ma H$m byn

(b) EH$ S>oQ>m g§aMZm {OgH$m Cn¶moJ ‘yë¶m|

Ho$ g§J«h H$mo g§J«hrV H$aZo Ho$ {bE {H$¶m

OmVm h¡

(c) EH$ geV© ~¶mZ

(d) EH$ ’§$³eZ Omo JUZm H$aVm h¡

61. dñVw-CÝ‘wI àmoJ«mq‘J ‘|, nm°br‘m°{’©$Á‘ ³¶m

h¡?

(a) EH$ H$jm H$s H$B© H§$ñQ´>³Q>a aIZo H$s

j‘Vm

(b) {H$gr {d{Y H$s AnZo n¡am‘rQ>am| H$s

g§»¶m ¶m àH$ma Ho$ AmYma na {^Þ ê$n

boZo H$s j‘Vm

(c) S>oQ>m Am¡a {d{Y¶m| H$mo EH$ hr BH$mB© ‘|

g§¶mo{OV H$aZo H$s à{H«$¶m

(d) {d{^Þ H$jmAm| Ho$ Am°ãOo³Q> ~ZmZo H$s

j‘Vm

59. Consider the following C

function :

float f, (float x, int y) {

float p, s; int i;

for (s=1, p=1, i=1; i<y;

i++){

p* =x/i;

s+=p;

}

return s;

}

For large values of y, the return

value of the function f best

approximates to

(a) yX

(b) xe

(c) log x

(d) xX

60. What is an array in programming?

(a) A type of loop

(b) A data structure used to

store a collection of values

(c) A conditional statement

(d) A function tha performs

calculations

61. In object-oriented programming,

what is polymorphism?

(a) The ability of a class to have

multiple constructors

(b) The ability of a method to

take different forms based

on the number or type of its

parameters

(c) The process of combining

data and methods into a

single unit

(d) The ability to create objects

of different classes
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62. Which of the following best

describes abstraction in object-

oriented programming?

(a) The process of hiding the

internal implementation

details of a class

(b) The process of creating

multiple instances of a class

(c) The process of allowing

access to private members of

a class

(d) The process of acquiring

properties and behaviour

from a parent class

63. What is the purpose of a

constructor in object-oriented

programming?

(a) To destroy objects when

they are no longer needed

(b) To initialize the state of an

object

(c) To define the structure of a

class

(d) To provide access to private

members of a class

64. Which of the following is a

feature of object-oriented

programming?

(a) Tight coupling

(b) Procedural programming

(c) Loose coupling

(d) Goto statements

62. {ZåZ{b{IV ‘| go H$moZ-gm Am°ãOo³Q>-

Amo[aE§Q>oS> àmoJ«mq‘J ‘| EãgQ´>¡³eZ H$m g~go

AÀN>m dU©Z H$aVm h¡?

(a) {H$gr ³bmg Ho$ Am§V[aH$ H$m¶m©Ýd¶Z

{ddaU H$mo {N>nmZo H$s à{H«$¶m

(b) {H$gr ³bmg Ho$ H$B© CXmhaU ~ZmZo H$s

à{H«$¶m

(c) {H$gr ³bmg Ho$ {ZOr gXñ¶m| VH$ nhþ±M

H$s AZw‘{V XoZo H$s à{H«$¶m

(d) {H$gr n¡a§Q> ³bmg go JwU Am¡a ì¶dhma

àmá H$aZo H$s à{H«$¶m

63. Am°ãOo³Q>-Amo[aE§Q>oS> àmoJ«mq‘J ‘| H§$ñQ´>³Q>a H$m

CÔoí¶ ³¶m h¡?

(a) O~ Am°ãOo³Q> H$s OéaV Z hmo Vmo CÝh|

Zï> H$aZm

(b) Am°ãOo³Q> Ho$ ñQ>oQ> H$mo B{Z{eEQ> H$aZm

(c) ³bmg H$s g§aMZm H$mo n[a^m{fV H$aZm

(d) ³bmg Ho$ {ZOr gXñ¶m| VH$ nhþ±M àXmZ

H$aZm

64. {ZåZ{b{IV ‘| go H$m¡Z-gr {dfofVm

Am°ãOo³Q>-Amo[aE§Q>oS> àmoJ«mq‘J H$s h¡?

(a) Q>mBQ> H$nqbJ

(b) àmogrS>çyab àmoJ«mq‘J

(c) byO H$nqbJ

(d) JmoQy> ñQ>oQ>‘|Q²>g
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65. Am°ãOo³Q>-Amo[aE§Q>oS> àmoJ«mq‘J ‘| S>m¶Zo{‘H$

~mB§qS>J ³¶m h¡?

(a) H§$nmBb Q>mB‘ na ‘oWS> H$m°b H$mo ‘oWS>

S>o{’${ZeZ go Omo‹S>Zo H$s à{H«$¶m

(b) aZQ>mB‘ na ‘oWS> H$m°b H$mo ‘oWS>

S>o{’${ZeZ go Omo‹S>Zo H$s à{H«$¶m

(c) aZQ>mB‘ na Am°ãOo³Q> ~ZmZo H$s à{H«$¶m

(d) H§$nmBb Q>mB‘ na Am°ãOo³Q> ~ZmZo H$s

à{H«$¶m

66. ‘ëQ>rnb BZho[aQ>|g ‘| S>m¶‘§S> g‘ñ¶m ³¶m

h¡?

(a) Añnï>Vm H$s g‘ñ¶m Omo V~ CËnÞ hmoVr

h¡ O~ EH$ hr Zo‘ Am¡a {g¾oMa dmbo Xmo

‘oWS²>g AbJ-AbJ ³bmg go BÝho[aQ>

hmoVo h¢

(b) H$B© Am°ãOo³Q> ~ZmE OmZo na ‘o‘moar

Amd§Q>Z H$s g‘ñ¶m

(c) ³bmg [aboeZ{en ‘| gHw©$ba ao’$aoÝg H$s

g‘ñ¶m

(d) Añnï>Vm H$s g‘ñ¶m Omo V~ CËnÞ hmoVr

h¡ O~ EH$ ³bmg Xmo ³bmg go BÝho[aQ>

hmoVm h¡ {OZHo$ E§goñQ>a EH$ hr hmoVo h¢

67. OOPS  Ho$ EH$ àmoJ«m‘ ‘| {H$VZr ³bmg

hmoVr h¢?

(a) Ho$db 1

(b) Ho$db 999

(c) Ho$db 100

(d) H$moB© ^r g§»¶m

65. What is dynamic binding in

object-oriented programming?

(a) The process of linking a

method call to the method

definition at compile time

(b) The process of linking a

method call to the method

definition at runtime

(c) The process of creating

objects at runtime

(d) The process of creating

objects at compile time

66. What is the diamond problem in

multiple inheritance?

(a) The problem of ambiguity

that arises when two

methods with the same

name and signature are

inherited from different

classes

(b) The problem of memory

allocation when multiple

objects are created

(c) The problem of circular

references in class

relationships

(d) The problem of ambiguity

that arises when a class

inherits from two classes

that have a common

ancestor

67. A single program of OOPS

contains how many classes?

(a) Only 1

(b) Only 999

(c) Only 100

(d) Any number
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68. {ZåZ{b{IV ‘| go H$m¡Z àmW{‘H$Vm H$Vma ‘|

‘mÝ¶ Am°naoeZ Zht h¡?

(a) EZ³¶y

(b) S>r³¶y

(c) nrH$

(d) nwf

69. {ZåZ{b{IV nmoñQ>{’$³g A{^ì¶{º$ H$mo EH$

ñQ>¡H$ H$m Cn¶moJ H$aHo$ EH$b A§H$m| Ho$ Am°naoÝS>

Ho$ gmW ‘yë¶m§{H$V {H$¶m OmVm h¡ …

8 2 3 ^/2 3 * + 5 1 * –

Ü¶mZ X| {H$ ^ KQ>mZo H$m Am°naoQ>a h¡& nhbo

* H$m ‘yë¶m§H$Z H$aZo Ho$ ~mX ñQ>¡H$ Ho$ erf©

Xmo VËd h¢

(a) 6, 1

(b) 5, 7

(c) 3, 2

(d) 1, 5

70. ¶h ‘mZVo hþE {H$ {H$gr {XE JE ~mBZar gM©

Q´>r (~rEgQ>r) ‘| N E{b‘|Q> h¢, {XE JE

~rEgQ>r> ‘| {H$gr E{b‘|Q> VH$ nhþ§MZo Ho$ {bE

g~go Iam~ g‘¶ O{Q>bVm ³¶m hmo gH$Vr

h¡?

(a) (1)O

(b) ( )O N

(c) 2( log )O N N

(d) 2( )O N

68. Which of the following is not a

valid operation in a Priority

Queue?

(a) Enqueue

(b) Dequeue

(c) Peek

(d) Push

69. The following postfix expression

with single digit operands is

evaluated using a stack :

8 2 3 ^/2 3 * + 5 1 * –

Note that ^ is the

exponentiation operator. The

top two elements of the stack

after the first * is evalauted are

(a) 6, 1

(b) 5, 7

(c) 3, 2

(d) 1, 5

70. Considering that there are N

elements in a given binary

search tree (BST), the worst-

case time complexity to access

an element in the given BST can

be

(a) (1)O

(b) ( )O N

(c) 2( log )O N N

(d) 2( )O N
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71. In a connected graph of n nodes

and n edges, how many cycles

will be present?

(a) Exactly 1

(b) At most 2

(c) Exactly 2

(d) At most 1

72. When the user tries to delete

the element from the empty

stack then the condition is said

to be a

(a) Underflow

(b) Garbage collection

(c) Overflow

(d) No flow

73. Which of the following is not

a valid hash function

requirement?

(a) Deterministic

(b) Uniform distribution

(c) Collision resolution

(d) Length preserving

74. A priority queue is implemented

as a Max-Heap. Initially, it has

5 elements. The level-order

traversal of the help is : 10, 8, 5,

3, 2. Two new elements 1 and 7

are inserted into the heap in

that order. The level-order

traversal of the heap after the

insertion of the elements is

(a) 10, 8, 7, 3, 2, 1, 5

(b) 10, 8, 7, 2, 3, 1, 5

(c) 10, 8, 7, 1, 2, 3, 5

(d) 10, 8, 7, 5, 3, 2, 1

71. n ZmoS²>g Am¡a n {H$Zmam| Ho$ EH$ Ow‹S>o hþE J«m’$

‘|, {H$VZo MH«$ ‘m¡OwX hm|Jo?

(a) {~ëHw$b 1

(b) A{YH$VZ 2

(c) {~³bwb 2

(d) A{YH$V‘ 1

72. O~ ¶yOa Imbr ñQ>¡H$ go E{b‘|Q> H$mo {S>brQ>

H$aZo H$m à¶mg H$aVm h¡ Vmo pñW{V H$mo ____

H$hm OmVm h¡&

(a) A§S>aâbmo

(b) Jm~©O H$bo³eZ

(c) Amodaâbmo

(d) Zmo âbmo

73. {ZåZ{b{IV ‘| go H$m¡Z-gm ‘mÝ¶ h¡e ’§$³eZ

Amdí¶H$Vm Zht h¡?

(a) {S>Q>a{‘{ZpñQ>H$

(b) ¶y{Z’$m°‘© {S>pñQ´>ã¶yeZ

(c) H$mo{bOZ [aOë¶yeZ

(d) b|W àrO{dªJ

74. àmW{‘H$Vm ³¶y H$mo ‘¡³g-hrn Ho$ ê$n ‘|

H$m¶m©pÝdV {H$¶m OmVm h¡& ewê$ ‘|, Bg‘| 5

E{b‘|Q> hmoVo h¢& hrn H$m bodb-Am°S>©a Q´>¡dg©b

h¡ 10, 8, 5, 3, 2 & Xmo ZE E{b‘|Q> 1 Am¡a

7 H$mo Cgr H«$‘ ‘| hrn ‘| S>mbm OmVm h¡&

VËdm| Ho$ gpå‘{bV Ho$ ~mX hrn H$m bodb-

Am°S>©a Q´>¡dg©b h¡

(a) 10, 8, 7, 3, 2, 1, 5

(b) 10, 8, 7, 2, 3, 1, 5

(c) 10, 8, 7, 1, 2, 3, 5

(d) 10, 8, 7, 5, 3, 2, 1
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75. B©Ama S>m°¶J«m‘ ‘| H$m{S>©Z¡{bQ>r AZwnmV ³¶m

h¡?

(a) BH$mB© goQ> ‘| BH$mB¶m| H$s g§»¶m

(b) BH$mB© ‘| E{Q´>ã¶yQ²>g H$s g§»¶m

(c) BH$mB© ‘| A{YH$V‘ {OVZo [aboeZ{eßg

hmo gH$Vo h¢

(d) BH$mB© CXmhaUm| H$s A{YH$V‘ g§»¶m Omo

{H$gr [aboeZ{en ‘| ^mJ bo gH$Vo h¢

76. {ZåZ{b{IV ‘| go H$m¡Z-gm S>oQ>m~og ‘m°S>b H$m

àH$ma Zht h¡?

(a) [aboeZb

(b) hmBao{H©$H$b

(c) Am°ãOo³Q> Amo[aE§Q>oS>

(d) {b{Z¶a

77. H$m¡Z-gm gm‘mÝ¶ ê$n gw{ZpíMV H$aVm h¡ {H$

H$moB© nwZamd¥{Îm H$aZo dmbo S>oQ>mg‘yh Zht h¢?

(a) àW‘ gm‘mÝ¶ ê$n (1NF)

(b) {ÛVr¶ gm‘mÝ¶ ê$n (2NF)

(c) V¥Vr¶ g‘mÝ¶ ê$n (3NF)

(d) ~m°¶g-H$moS> gm‘mÝ¶ ê$n (BCNF)

75. What is the cardinality ratio in

an ER diagram?

(a) The number of entities in an

entity set

(b) The number of attributes in

an entity

(c) The maximum number of

relationships an entity can

have

(d) The maximum number of

entity instances that can

participate in a relationship

76. Which of the following is not a

type of database model?

(a) Relational

(b) Hierarchical

(c) Object oriented

(d) Linear

77. Which normal form ensures that

there are no repeating groups of

data?

(a) First Normal Form (1NF)

(b) Second Normal Form (2NF)

(c) Third Normal Form (3NF)

(d) Boyce-Codd Normal Form

(BCNF)
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78. EH$ S>oQ>m~og Vm{bH$m T na {dMma H$a| {Og‘|

àË¶oH$ àH$ma H$s Xmo H$m°b‘ X Am¡a X h¢&

Vm{bH$m ~ZmZo Ho$ ~mX, Vm{bH$m ‘| EH$ [aH$m°S©>

(X = 1, Y = 1) S>mbm OmVm h¡& {H$gr ~r

g‘¶ Vm{bH$m ‘| g^r [aH$m°S>© ‘| X Am¡a Y

Ho$ H«$‘e… A{YH$V‘ ‘mZm| H$mo MX Am¡a MY

H$hVo h¢& MX Am¡a MY H$m Cn¶moJ H$aHo$,

X Am¡a Y ‘mZ MX + 1, 2*MY + 1 Ho$

gmW Vm{bH$m ‘| 128 ~ma ZE [aH$m°S>© S>mbo

OmVo h¢& Ü¶mZ {X¶m Om gH$Vm h¡ {H$ ha ~ma

S>mbZo Ho$ ~mX, MX Am¡a MY Ho$ ‘mZ

~XbVo h¢& D$na C{„{IV MaUm| H$mo nyam H$aZo

Ho$ ~mX {ZåZ{b{IV SQL ¹o$ar H$m AmCQ>nwQ>

³¶m hmoJm?

SELECT Y FROM T WHERE X = 7

(a) 127

(b) 255

(c) 129

(d) 257

79. EH$ B©Ama AmaoI ‘| EH$ gh¶moJr BH$mB© H$m

CÔoí¶ ³¶m h¡?

(a) EH$ H$B©-go-H$B© g§~§Y H$m à{V{Z{YËd

H$aZm

(b) AmaoI H$s nR>Zr¶Vm H$mo ~‹T>mZo Ho$ {bE

(c) EH$ àmW{‘H$ Hw§$Or {deofVm H$m

à{V{Z{YËd H$aZm

(d) EH$ EH$-go-EH$ g§~§Y H$m g§Ho$V XoZm

78. Consider a database table T

containing two columns X and Y

each of type integer. After the

creation of the table, one record

(X = 1, Y = 1) is inserted in the

table. Let MX and MY denote

the respective maximum values

of X and Y among all records in

the table at any point in time.

Using MX and MY, new records

are inserted in the table 128

times with X and Y values being

MX + 1, 2*MY + 1 respectively. It

may be noted that each time

after the insertion, values of MX

and MY change. What will be

the output of the following SQL

query after the steps mentioned

above are carried out?

SELECT Y FROM T WHERE X = 7

(a) 127

(b) 255

(c) 129

(d) 257

79. What is the purpose of an

associative entity in a ER

diagram?

(a) To represent a many-to-

many relationship

(b) To enhance the readability

of the diagram

(c) To represent a primary key

attribute

(d) To indicate a one-to-one

relationship
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80. S>oQ>m~og B§S>o³g H$m CÔoí¶ ³¶m h¡¡?

(a) S>oQ>m B§{Q>J«oQ>r bmJy H$aZo Ho$ {bE

(b) S>oQ>m~og H$s g§aMZm H$mo n[a^m{fV H$aZo

Ho$ {bE

(c) ¹o$ar àXe©Z H$m AZwHy$bZ H$aZo Ho$ {bE

(d) Vm{bH$mAm| Ho$ ~rM g§~§Y ñWm{nV H$aZo

Ho$ {bE

81. EH$ {~Q>-ñQ>q’$J AmYm[aV ’«o$q‘J àmoQ>moH$m°b

8-{~Q> {S>br‘rQ>a n¡Q>Z© 01111110 H$m

Cn¶moJ H$aVm h¡& ¶{X ñQ>q’$J Ho$ ~mX

AmCQ>nwQ> {~Q>-pñQ´>¨J 01111100101 h¡,

Vmo BZnwQ> {~Q>-pñQ´>¨J h¡

(a) 0111110100

(b) 0111110101

(c) 0111111101

(d) 0111111111

82. {H$g àH$ma H$s {H«$ßQ>moJ«m’$s EpÝH«$ßeZ Am¡a

{S>{H«$ßeZ XmoZm| Ho$ {bE EH$ hr Hw§$Or H$m

Cn¶moJ H$aVr h¡?

(a) npãbH$ H$s {H«$ßQ>moJ«m’$s

(b) àmBdoQ> H$s {H«$ßQ>moJ«m’$s

(c) {g‘o{Q´>H$ H$s {H«$ßQ>moJ«m’$s

(d) E{g‘o{Q´>H$ H$s {H«$ßQ>moJ«m’$s

80. What is the purpose of a

database index?

(a) To enforce data integrity

(b) To define the structure of a

database

(c) To optimize query perfor-

mance

(d) To establish relationship

between tables

81. A bit-stuffing based framing

protocol uses an 8-bit delimiter

pattern of 01111110. If the

output bit-string after stuffing is

01111100101, then the input

bit-string is

(a) 0111110100

(b) 0111110101

(c) 0111111101

(d) 0111111111

82. Which type of cryptography

uses a single key for both

encryption and decryption?

(a) Public Key Cryptography

(b) Private Key Cryptography

(c) Symmetric Key

Cryptography

(d) Asymmetric Key

Cryptography
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83. H$m¡Z-gm ê$qQ>J EëJmo[aX‘ qbH$-ñQ>oQ> gyMZm

na AmYm[aV h¡ Am¡a {S>ÁH$ñQ´>m Ho$ EëJmo[aX‘

H$m Cn¶moJ H$aHo$ g~go N>moQ>o nmW H$s JUZm

H$aVm h¡?

(a) RIP

(b) OSPF

(c) BGP

(d) EIGRP

84. H$m¡Z-gm HTML5 E{Q´>ã¶yQ> àX{e©V hmoZo

dmbr N>{d Ho$ URL H$mo {Z{X©ï> H$aZo Ho$ {bE

Cn¶moJ {H$¶m OmVm h¡?

(a) alt

(b) src

(c) fallback

(d) placeholder

85. do~ EpßbHo$eZ S>odbn‘|Q> ‘| goeZ H$m CÔoí¶

³¶m h¡?

(a) do~ noO Ho$ {~µOwAb boAmCQ> H$mo

n[a^m{fV H$aZm

(b) ‘ëQ>rnb noO [a¹o$ñQ> ‘| ¶yOa S>oQ>m H$mo

ñQ>moa H$aZm

(c) ³bmB§Q> Am¡a gd©a Ho$ ~rM g^r g§Mma

H$mo EpÝH«$ßQ>> H$aZm

(d) Cn¶moJH$Vm©Am| H$mo à‘m{UV H$aZm

86. {ZåZ{b{IV ‘| go H$m¡Z-gm {S>µ’$m°ëQ>

nr0 EM0 nr0 goeZ Zo‘ h¡?

(a) PHPSESSIONID

(b) PHPIDSESS

(c) PHPSESSID

(d) PHPSESID

83. Which routing algorithm is

based on link-state information

and calculates the shortest path

using Dijkstra’s algorithm?

(a) RIP

(b) OSPF

(c) BGP

(d) EIGRP

84. Which HTML5 attribute is used

to specify the URL of an image

to be displayed?

(a) alt

(b) src

(c) fallback

(d) placeholder

85. What is the purpose of a session

in web application

development?

(a) To define the visual layout of

a web page

(b) To store user data across

multiple page requests

(c) To encrypt all communi-

cation between the client

and server

(d) To authenticate users

86. Which one of the following is

the default PHP session name?

(a) PHPSESSIONID

(b) PHPIDSESS

(c) PHPSESSID

(d) PHPSESID
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87. do~ godmAm| Ho$ g§X ©̂ ‘| "Ama0 B©0 Eg0 Q>r0'

H$m g§{já ê$n ³¶m h¡?

(a) [aàoO|Q>oeZb ñQ>oQ> Q´>m§g’$a

(b) [a‘moQ> g{d©g Q´>m§g’$a

(c) g§gmYZ {d{Z‘¶ Am¡a amÁ¶ g§MaU

(d) [aboeZb ñQ>oQ> Q´>m§{µOeZ

88. E§ßQ>r ñQ>oQ>‘|Q> H$mo E§H$mC§Q>a H$aZo na,

OmdmpñH«$ßQ> B§Q>aàoQ>a ³¶m H$aVm h¡?

(a) Eaa W«mo H$aVm h¡

(b) ñQ>oQ>‘|Q²>g H$mo BÝJmoa H$aVm h¡

(c) dm{ZªJ XoVm h¡

(d) àmoJ«m‘ H$mo amoH$Vm h¡

89. {ZåZ{b{IV ‘| go H$m¡Z-gm ³bmCS> godm

‘m°S>b Zht h¡?

(a) BÝ’«$mñQ´>³Ma EoµO A g{d©g (IaaS)

(b) ßboQ>µ’$m°‘© EoµO A g{d©g (PaaS)

(c) gm°µâQ>do¶a EoµO A g{d©g (SaaS)

(d) S>oQ>m~og EoµO A gm{d©g (DBaaS)

90. H$m¡Z-gm ³bmCS> n[a{Z¶moOZ ‘m°S>b {H$gr

EH$b g§JR>Z Ho$ {bE g‘{n©V ~w{Z¶mXr T>m±Mm

àXmZ H$aVm h¡?

(a) npãbH$ ³bmCS>

(b) àmBdoQ> ³bmCS>

(c) hmB{~«S> ³bmCS>

(d) H$å¶w{ZQ>r ³bmCS>

87. What does the acronym ‘REST’

stand for in the context of web

services?

(a) Representational State

Transfer

(b) Remote Service Transfer

(c) Resource Exchange and

State Transmission

(d) Relational State Transition

88. Upon encountering empty

statements, what does the

JavaScript Interpreter do?

(a) Throws an error

(b) Ignores the statements

(c) Gives a warning

(d) Stops the program

89. Which of the following is not a

cloud service model?

(a) Infrastructure as a Service

(IaaS)

(b) Platform as a Service (PaaS)

(c) Software as a Service (SaaS)

(d) Database as a Service

(DBaaS)

90. Which cloud deployment model

provides dedicated infrastruc-

ture for a single organization?

(a) Public Cloud

(b) Private Cloud

(c) Hybrid Cloud

(d) Community Cloud
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91. ³bmCS> H§$ß¶yqQ>J ‘| hmBnadmBOa H$s ŷ{‘H$m

³¶m h¡?

(a) Cn¶moJH$Vm© à‘mUrH$aU H$m à~§YZ H$aVm

h¡

(b) ñQ>moaoO g§gmYZ Amd§{Q>V H$aVm h¡

(c) dMw©AbmBOoeZ j‘VmE± àXmZ H$aVm h¡

(d) ZoQ>dH©$ g§Mma H$mo gwa{jV H$aVm h¡

92. {ZåZ{b{IV ‘| go H$m¡Z-gm PaaS H$m àH$ma

h¡ Omo Am‘ Vm¡a na ‘m¡OyXm SaaS ßboQ>µ’$m°‘©

H$mo AZwHy${bV H$aZo H$s AZw‘{V XoVm h¡?

(a) ñQ>¢S>-AbmoZ S>odbn‘|Q> EZdm¶aZ‘|Q>

(b) EoS>-Am°Z S>odbn‘|Q> gw{dYmE±

(c) AmonZ ßboQ>µ’$m°‘© EµO A g{d©g

(d) EpßbHo$eZ {S>brdar-AmoZbr

EZdm¶aZ‘|Q>

93. H¥${Ì‘ ~w{Õ‘Îmm (AI) ‘| øw[apñQ>H$ ImoO

EëJmo[aX‘ ‘|, ¶{X {H$gr g‘ñ¶m Ho$ {bE

AZw‘o¶ øw[apñQ>³g h1...hm H$m EH$ g§J«h

CnbãY h¡ Am¡a CZ‘| go H$moB© ^r AÝ¶ na

hmdr Zht hmoVm h¡, Vmo h‘| {H$go MwZZm

Mm{hE?

(a) 1( ) max { ( ), ..., ( )}mh n h n h n=

(b) 1( ) min { ( ), ..., ( )}mh n h n h n=

(c) 1( ) avg { ( ), ..., ( )}mh n h n h n=

(d) 1( ) sum{ ( ), ..., ( )}mh n h n h n=

91. What is the role of a hypervisor

in cloud computing?

(a) Manages user authentica-

tion

(b) Allocates storage resources

(c) Provides virtualization

capabilities

(d) Secures network

communication

92. Which one of the following is a

type of PaaS that usually allows

customizing the existing SaaS

platform?

(a) Stand-alone development

environments

(b) Add-on development

facilities

(c) Open platforms as a service

(d) Application delivery-only

environments

93. In heuristic search algorithms

in Artificial Intelligence (AI), if a

collection of admissible

heuristics h1...hm is available for

a problem and none of them

dominates any of the others,

which should we choose?

(a) 1( ) max { ( ), ..., ( )}mh n h n h n=

(b) 1( ) min { ( ), ..., ( )}mh n h n h n=

(c) 1( ) avg { ( ), ..., ( )}mh n h n h n=

(d) 1( ) sum{ ( ), ..., ( )}mh n h n h n=
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94. {ZåZ{b{IV ‘| go H$m¡Z-gm gm‘mÝ¶V… Ý¶yab

ZoQ>dH©$ ‘| Cn¶moJ {H$¶m OmZo dmbm Ep³Q>doeZ

n§³eZ Zht h¡?

(a) Ama0 B©0 Eb0 ¶y0 (aop³Q>’$mBS> {b{Z¶a

¶y{ZQ>)

(b) {g½‘m°BS>

(c) VZh (hmBna~mo{bH$ Q>¡ÝO|Q>)

(d) E³gnmoZ|{e¶b {b{Z¶a ¶y{ZQ>

(B©0 Eb0 ¶y0)

95. ‘erZ b{ZªJ Ho$ g§X ©̂ ‘| ""~m¶g-d¡[aE§g

Q´>oS>-Am°’$'' eãX H$m ³¶m AW© h¡?

(a) à{ejU S>oQ>m Am¡a narjU S>oQ>m H$s

JwUdÎmm Ho$ {~M Q´>oS>-Am°’$

(b) EH$ ‘m°S>b H$s O{Q>bVm Am¡a BgHo$

gm‘mÝ¶rH$aU H$s j‘Vm Ho$ ~rM

Q´>oS>-Am°’$

(c) {deofVmAm| H$s g§»¶m Am¡a S>oQ>mgoQ> Ho$

AmH$ma Ho$ ~rM Q´>oS>-Am°’$

(d) dJuH$aU ‘| gQ>rH$Vm Am¡a nwZàm©{á Ho$

~rM Q´>oS>-Am°’$

96. ‘erZ b{ZªJ ‘| {Z¶{‘VrH$aU VH$ZrH$m| H$m

CÔoí¶ ³¶m h¡?

(a) ‘m°S>b H$s O{Q>bVm ~‹T>mZo Ho$ {bE

(b) ‘m°S>b Ho$ nydm©J«h H$mo H$‘ H$aZo Ho$ {bE

(c) ~‹S>o JwUm§H$m| H$mo$ X§{S>V H$aZo Am¡a

Amô a{’$qQ>J H$mo amoH$Zo Ho$ {bE

(d) à{ejU à{H«$¶m H$mo VoO H$aZo Ho$ {bE

97. gmB~a gwajm ‘| àdoe narjU H$m àmW{‘H$
CÔoí¶ ³¶m h¡?
(a) {gñQ>‘ ‘| H$‘Omo[a¶m| H$m ’$¶Xm CR>mZm
(b) gwajm Cnm¶m| H$s à^mderbVm H$m

AmH$bZ H$aZm
(c) ZoQ>dH©$ Q´>¡{µ’$H$ H$s {ZJamZr H$aZm
(d) Cn¶moJH$Vm©Am| H$mo à‘m{UV H$aZm

94. Which of the following is not

a commonly used activation

function in neural networks?

(a) ReLU (Rectified Linear Unit)

(b) Sigmoid

(c) Tanh (Hyperbolic Tangent)

(d) Exponential Linear Unit

(ELU)

95. In the context of machine

learning, what is the term “bias-

variance trade-off” refer to?

(a) The trade-off between the

quality of training data and

testing data

(b) The trade-off between the

complexity of a model and

its ability to generalize

(c) The trade-off between the

number of features and the

size of the dataset

(d) The trade-off between

precision and recall in

classification

96. What is the purpose of regulari-

zation techniques in machine

learning?

(a) To increase the complexity

of the model

(b) To  reduce the bias of the

model

(c) To penalize large coefficients

and prevent overfitting

(d) To speed up the training

process

97. What is the primary purpose

of penetration testing in cyber-

security?

(a) To exploit vulnerabilities in

a system

(b) To assess the effectiveness

of security measures

(c) To monitor network traffic

(d) To authenticate users
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98. gmB~a gwajm Ho$ g§X ©̂ ‘| "{µ’$qeJ' eãX H$m
³¶m AW© h¡?

(a) AZ{YH¥$V nhþ§M àmá H$aZo Ho$ {bE
gm°µâQ>do¶a H$‘Omo[a¶m| H$m emofU H$aZm

(b) Xþ̂ m©dZmnyU© AQ>¡M‘|Q> ¶m qbH$ Ho$ gmW
Adm§{N>V B©‘ob ôOZm

(c) EpÝH«$ßQ>oS> S>oQ>m àgmaU H$mo AdamoYZ Am¡a
{S>H$moS> H$aZm

(d) Cn¶moJH$Vm©Am| H$mo ZH$br do~gmBQ>m| na
nwZ… {ZX}{eV H$aZo Ho$ {bE ZoQ>dH©$ Q´>¡{’$H$
‘| hoa’o$a H$aZm

99. {ZåZ{b{IV ‘| go H$m¡Z-gm EH$ µOramo-S>o
E³gßbm°BQ> H$mo g~go AÀN>m d{U©V H$aVm h¡?

(a) EH$ h‘bm Omo AmYr amV (00 : 00

K§Q>o) na hmoVm h¡

(b) EH$ ôÚVm Omo n¡M CnbãY hmoZo go nhbo
gmd©O{ZH$ ê$n go àH$Q> hmoVr h¡

(c) EH$ h‘bm Omo nwamZo gm°µâQ>do¶a g§ñH$aUm|
H$mo b{jV H$aVm h¡

(d) EH$ ^oÚVm Omo {dH«o$Vm Ûmam n¡M Omar
H$aZo go nhbo emofU H$s OmVr h¡

100. E{WH$b h¡H$g© H$m àmW{‘H$ bú¶ ³¶m h¡?

(a) ì¶{º$JV bm^ Ho$ {bE H$‘Omo[a¶m| H$m
’$m¶Xm CR>mZm

(b) {gñQ>‘ VH$ AZ{YH¥$V nhþ§M àmá H$aZm

(c) gwajm H$‘Omo[a¶m| H$s nhMmZ H$aZm Am¡a
CÝh| R>rH$ H$aZm

(d) ZoQ>dH©$ godmAm| H$mo ~m{YV H$aZm

98. What does the term ‘phishing’

refer to in the context of cyber

security?

(a) Exploiting software vulner-

abilities to gain

unauthorized access

(b) Sending unsolicited emails

with malicious attachments

or links

(c) Intercepting and decoding

encrypted data trans-

missions

(d) Manipulating network traffic

to redirect users to fake

websites

99. Which of the following best

describes a zero-day exploit?

(a) An attack that occurs at

midnight (00 : 00 hours)

(b) A vulnerability that is

disclosed publicly before a

patch is available

(c) An attack that targets

outdated software versions

(d) A vulnerability that is

exploited before the vendor

releases a patch

100. What is the primary goal of

ethical hackers?

(a) To exploit vulnerabilities for

personal gain

(b) To gain unauthorized access

to systems

(c) To identify and fix security

weaknesses

(d) To disrupt network services
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51. X(z) H$mo x [n] H$m z-ê$nm§Va ‘mZ|& ¶{X

0 4 0 74j⋅ + ⋅ , X(z) H$m eyÝ¶ h¡, Vmo

{ZåZ ‘| go H$m¡Z-gm X(z) H$m ^r eyÝ¶ hmoZm

Mm{hE? [ ] [ ]x n x n= −  na {dMma H$a|&

(a)
1

(0 4 0 74)j⋅ + ⋅

(b) 0 4 0 74j⋅ − ⋅

(c)
1

(0 4 0 74)j⋅ − ⋅

(d) 0 4 0 74j− ⋅ − ⋅

52. EH$ H¡$ñHo$S> {gñQ>‘ na {dMma H$a|, Xmo H¡$ñHo$S>

{gñQ>‘ ‘| go EH$ kmV h¡ Am¡a Xÿgam AkmV

h¡& {gñQ>‘ ‘| BZnwQ> Am¡a AmCQ>nwQ> g‘mZ h¡,

bo{H$Z AmCQ>nwQ> ‘| EH$ ¶y{ZQ> Xoar h¡& Xmo

H¡$ñHo$S> {gñQ>‘ ‘| go EH$

1

2 1

(1 0 5 )
( )

(1 0 7 )

z
H z

z

−

−

− ⋅
=

− ⋅
 h¡&

1( )H z  kmV H$a|&

(a)
1 1

1 1

(1 0 5 )
( )

(1 0 7 )

z z
H z

z

− −

−

− ⋅
=

− ⋅

(b)
1 1

1 1

(1 0 7 )
( )

(1 0 5 )

z z
H z

z

− −

−

− ⋅
=

− ⋅

(c)
1

1 1 1

(1 0 7 )
( )

(1 0 5 )

z
H z

z z

−

− −

− ⋅
=

− ⋅

(d)
1

1 1 1

(1 0 5 )
( )

(1 0 7 )

z
H z

z z

−

− −

− ⋅
=

− ⋅

51. Consider X(z) as the z-transform

of x [n]. If 0 4 0 74j⋅ + ⋅  is a

zero of X(z), which one of the

following should be also zero

X(z)? Consider [ ] [ ]x n x n= − .

(a)
1

(0 4 0 74)j⋅ + ⋅

(b) 0 4 0 74j⋅ − ⋅

(c)
1

(0 4 0 74)j⋅ − ⋅

(d) 0 4 0 74j− ⋅ − ⋅

52. Consider a cascaded system, out

of two cascaded system one is

known and the other is

unknown. The input and output

from the system is same, but

there is one unit delay in the

output. One of the two cascaded

systems is

1

2 1

(1 0 5 )
( )

(1 0 7 )

z
H z

z

−

−

− ⋅
=

− ⋅

Find 1( )H z .

(a)
1 1

1 1

(1 0 5 )
( )

(1 0 7 )

z z
H z

z

− −

−

− ⋅
=

− ⋅

(b)
1 1

1 1

(1 0 7 )
( )

(1 0 5 )

z z
H z

z

− −

−

− ⋅
=

− ⋅

(c)
1

1 1 1

(1 0 7 )
( )

(1 0 5 )

z
H z

z z

−

− −

− ⋅
=

− ⋅

(d)
1

1 1 1

(1 0 5 )
( )

(1 0 7 )

z
H z

z z

−

− −

− ⋅
=

− ⋅

PART—B

[ECE]
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53. ³b¡åna g{H©$Q> H$m H$m¶© {gÕm§V H$m¡Z-gm h¡?

(a) ¶h Bg {gÕm§V na H$m‘ H$aVm h¡ {H$

H¡$no{gQ>a H$m Mm{OªJ g‘¶ {S>ñMm{OªJ

g‘¶ H$s VwbZm ‘| AmYm hmo OmVm h¡

(b) ¶h Bg {gÕm§V na H$m‘ H$aVm h¡ {H$

H¡$no{gQ>a H$m Mm{OªJ g‘¶ {S>ñMm{OªJ

g‘¶ H$s VwbZm ‘| XmoJwZm h¡

(c) ¶h Bg {gÕm§V na H$m‘ H$aVm h¡ {H$

H¡$no{gQ>a H$m Mm{OªJ g‘¶ {S>ñMm{OªJ

g‘¶ H$s VwbZm ‘| ~‹S>m hmoVm h¡

(d) ¶h Bg {gÕm§V na H$m‘ H$aVm h¡ {H$

H¡$no{gQ>a H$m Mm{OªJ g‘¶ {S>ñMm{OªJ

g‘¶ H$s VwbZm ‘| ~hþV H$‘ h¡

54. Eånbr’$m¶a ‘| ZH$mamË‘H$ ’$sS>~¡H$ Ho$ gmW

³¶m hmoVm h¡?

(a) ¶h JoZ H$mo H$‘ H$aVm h¡

(b) ¶h Amd¥{Îm Am¡a MaU {dê$nU H$mo

~‹T>mVm h¡

(c) ¶h g{H©$Q> ‘| emoa H$mo Am¡a ~‹T>m XoVm h¡

(d) ¶h ~¢S>{dS²>W H$mo H$‘ H$aVm h¡

53. Which is the working principle

of clamper circuit?

(a) It works on the principle

that the charging time of

the capacitor halved as

compared to discharging

time

(b) It works on the principle

that the charging time of

the capacitor is double as

compared to discharging

time

(c) It works on the principle

that the charging time of

the capacitor is large as

compared to discharging

time

(d) It works on the principle

that the charging time of

the capacitor is very small as

compared to discharging

time

54. What happens with a negative

feedback in an amplifier?

(a) It reduces the gain

(b) It increases frequency and

phase distortion

(c) It further increases the

noise in the circuit

(d) It reduces the bandwidth
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55. In the 1’s complement format,

I. The positive numbers

remain unchanged.

II. The negative numbers are

obtained by taking the 1’s

complement of the positive

counterparts.

Which of the following is

correct?

(a) Both I and II are true

(b) Both I and II are false

(c) I is true but II is false

(d) II is true but I is false

56. Two small diameter 10 gm

dielectric balls can slide freely

on a vertical channel. Each

carry a negative charge of 1 Mc.

Find the separation between

the balls if the lower ball is

restrained from moving.

(a) 0·5

(b) 0·4

(c) 0·3

(d) 0·2

55. 1’s nyaH$ àmê$n ‘|,

I. YZmË‘H$ g§»¶mE± An[ad{V©V ahVr h¢&

II. F$UmË‘H$ g§»¶mE± YZmË‘H$ g‘H$jm| Ho$

1’s nyaH$ boZo go àmá hmoVr h¢&

{ZåZ{b{IV ‘| go H$m¡Z-gm ghr h¡?

(a) XmoZm| I Am¡a II ghr h¢

(b) XmoZm| I Am¡a II JbV h¢

(c) I ghr h¡ bo{H$Z II JbV h¡

(d) II ghr h¡ bo{H$Z I JbV h¡

56. Xmo N>moQ>o ì¶mg Ho$ 10 gm Ho$ S>mBbop³Q´>H$

~m°b EH$ D$Üdm©Ya M¡Zb na ñdV§Ì ê$n go

ñbmBS> H$a gH$Vo h¢& àË¶oH$ ~m°b 1 Mc H$m

F$UmË‘H$ MmO© dhZ H$aVm h¡& ¶{X {ZMbr

~m°b H$mo MbZo go amoH$m J¶m h¡, Vmo ~m°bm| Ho$

~rM H$m A§Vamb ImoO|&

(a) 0·5

(b) 0·4

(c) 0·3

(d) 0·2
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57. Determine the divergence of

230 2 5F i xyj xz k= + +

at (1, 1, –0·2) and state the

nature of the field.

(a) 1, solenoidal

(b) 0, solenoidal

(c) 1, divergent

(d) 0, divergent

58. Which of the following is not

a common characteristic of

embedded systems?

(a) High power consumption

(b) Limited resources

(c) Real-time operation

(d) Specific functionality

59. Which of the following trans-

duction mechanisms usually

does not come under vibration

energy harvesting?

(a) Piezoelectric

(b) Electromagnetic

(c) Triboelectric

(d) Magnetostatic

57. 230 2 5F i xyj xz k= + +

H$m (1, 1, –0·2) na {dMbZ {ZYm©[aV H$a|

Am¡a joÌ H$s àH¥${V ~VmE§&

(a) 1, gmo{bZm°BS>b

(b) 0, gmo{bZm°BS>b

(c) 1, {dMbZerb

(d) 0, {dMbZerb

58. {ZåZ{b{IV ‘| go H$m¡Z-gr Eå~oS>oS> {gñQ>‘

H$s gm‘mÝ¶ {deofVm Zht h¡?

(a) Cƒ e{º$ InV

(b) gr{‘V g§gmYZ

(c) dmñV{dH$ g‘¶ g§MmbZ

(d) {d{eï> H$m¶©j‘Vm

59. {ZåZ{b{IV ‘| go H$m¡Z-gm nmaJ‘Z V§Ì

Am‘Vm¡a na H§$nZ D$Om© g§M¶Z Ho$ A§VJ©V Zht

AmVm h¡?

(a) {nOmoBbop³Q́>H$

(b) {dÚwVMw§~H$s¶

(c) Q́>mB~moBbop³Q́>H$

(d) ‘¡¾oQ>moñQ>o{Q>H$
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60. Which of the following

statement(s) is/are false about

an embedded system?

(a) It is a microcontroller-based

system designed to control

some specific functions.

(b) It cannot normally be

programmed by the end

user.

(c) It is a microprocessor inside

a traditional computing

system (Desktop, Laptop

etc.).

(d) All of the above

61. Consider a 6-state pipeline

with stage delays of 35, 40, 28,

42, 30 and 38 nanoseconds

respectively. If the latch delay in

each stage is 5 nanoseconds,

what is the maximum clock

frequency with which the

pipeline can operate?

(a) 21·3 MHz

(b) 20·2 MHz

(c) 18·6 MHz

(d) None of the above

60. {ZåZ{b{IV ‘| go H$m¡Z-gm/go H$WZ/H$WZm|

Eå~oS>oS> {gñQ>‘ Ho$ ~mao ‘| JbV h¡/h¢?

(a) ¶h EH$ ‘mBH«$moH§$Q´>moba-AmYm[aV àUmbr

h¡ {Ogo Hw$N> {d{eï> H$m¶m] H$mo {Z¶§{ÌV

H$aZo Ho$ {bE {S>µOmBZ {H$¶m J¶m h¡&

(b) Bgo gm‘mÝ¶V… E§S> ¶yOa Ûmam àmoJ«m‘ Zht

{H$¶m Om gH$Vm h¡&

(c) ¶h EH$ nma§n[aH$ H§$ß¶yqQ>J {gñQ>‘

(S>oñH$Q>m°n, b¡nQ>m°n Am{X) Ho$ A§Xa EH$

‘mBH«$moàmogoga h¡&

(d) Cnamoº$ g^r

61. EH$ 6-ñQ>oO nmBnbmBZ na {dMma H$a| {Og‘|

H«$‘e… 35, 40, 28, 42, 30 Am¡a 38

Z¡ZmogoH§$S> H$s ñQ>oO {db§~ h¢& ¶{X àË¶oH$ ñQ>oO

‘| b¡M {db§~ 5 Z¡ZmogoH§$S> h¡, Vmo A{YH$V‘

³bm°H$ Amd¥{V ³¶m h¡ {Og na nmBnbmBZ

H$m‘ H$a gH$Vr h¡?

(a) 21·3 ‘oJmhQ>©O²

(b) 20·2 ‘oJmhQ>©O²

(c) 18·6 ‘oJmhQ>©O²

(d) Cnamoº$ ‘| go H$moB© Zht
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62. Which activity is concerned with

identifying the task at the final

embedded systems?

(a) Scheduling

(b) Task-level concurrency

management

(c) High-level transformation

(d) Compilation

63. Which of the following is a real

time embedded system?

(a) Ceiling fan

(b) Microwave oven

(c) Television set

(d) Desktop keyboard

64. If the registers r1, r2 and r3

contain the values 0, 15 and 12

respectively, what will be the

value in register r4 after

execution of the following code

segment? Assume that the

registers are 32-bits in size.

MVN r0,r1

AND r4,r0,r2

EOR r4,r4,r3

(a) 15

(b) 3

(c) 12

(d) None of the above

62. H$m¡Z-gr J{V{d{Y A§{V‘ Eå~oS>oS> {gñQ>‘ ‘|

H$m¶© H$s nhMmZ H$aZo go g§~§{YV h¡?

(a) eoS>çyqbJ

(b) H$m¶©-ñVar¶ g‘dVu à~§YZ

(c) Cƒ-ñVar¶ ê$nm§VaU

(d) g§H$bZ

63. {ZåZ{b{IV ‘| go H$m¡Z-gm [a¶b Q>mB‘

E§~oS>oS> {gñQ>‘ h¡?

(a) grqbJ ’¡$Z

(b) ‘mBH«$modod AmodZ

(c) Q>obr{dOZ goQ>

(d) S>oñH$Q>m°n H$s~moS>©

64. ¶{X a{OñQ>a r1, r2 Am¡a r3 ‘| H«$‘e… 0,

15 Am¡a 12 ‘mZ hmoVo h¢, Vmo {ZåZ{b{IV

H$moS> I§S> Ho$ {ZînmXZ Ho$ ~mX a{OñQ>a r4 ‘|

‘mZ ³¶m hmoJm? ‘mZ b| {H$ a{OñQ>a 32-{~Q>

Ho$ AmH$ma ‘| h¢&

MVN r0,r1

AND r4,r0,r2

EOR r4,r4,r3

(a) 15

(b) 3

(c) 12

(d) Cnamoº$ ‘| go H$moB© Zht
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65. Duty cycling of the sensors is

managed by which component

of loT?

(a) Application

(b) Real-time Kernel

(c) Radios

(d) Power Management Unit

66. Where the design is of moderate

complexity and time to silicon is

of paramount importance then

the probable suitable approach

is

(a) FPGA

(b) PLA

(c) Standard cell

(d) PAL

67. The p-type epitaxial layer, when

deposited onto an n-type

substrate to create a bipolar

transistor will function as

(a) the collector contact for a

p-n-p transistor

(b) the emitter of a p-n-p

transistor

(c) the base of an n-p-n

transistor

(d) the collector of p-n-p

transistor

65. g|ga H$s S²>¶yQ>r gmBp³b¨J H$mo loT Ho$ {H$g

KQ>H$ X²dmam à~§{YV {H$¶m OmVm h¡?

(a) EßbrHo$eZ

(b) [a¶b-Q>mB‘ H$Z}b

(c) ao{S>¶mo

(d) nmda ‘¡ZoO‘|Q> ¶y{ZQ>

66. Ohm§ {S>µOmBZ ‘mÜ¶‘ O{Q>bVm H$m hmo Am¡a

{g{bH$m°Z VH$ H$m g‘¶ AË¶{YH$ ‘hÎdnyU©

hmo, Vmo g§̂ dV… Cn¶wº$ Ñ{ï>H$moU h¡

(a) E’$0 nr0 Or0 E0

(b) nr0 Eb0 E0

(c) ‘mZH$ gob

(d) nr0 E0 Eb0

67. p-àH$ma H$s EnrQ>¡p³g¶b naV, O~

X²{dY«wdr¶ Q´>m§{OñQ>a ~ZmZo Ho$ {bE n-àH$ma

gãgQ´>oQ> na O‘m H$s OmVr h¡, Vmo _____ Ho$

ê$n ‘| H$m¶© H$aoJr&

(a) p-n-p Q´>m§{OñQ>a Ho$ {bE H$bo³Q>a g§nH©$

(b) p-n-p Q´>m§{OñQ>a H$m E{‘Q>a

(c) n-p-n Q´>m§{OñQ>a H$m ~og

(d) p-n-p Q´>m§{OñQ>a H$m H$bo³Q>a
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68. NMOS boAmCQ> Ho$ {bE {Z‘m©U à{H«$¶m Ho$

^rVa naVm| Am¡a {deofVmAm| Ho$ EH$ AbJ

Cng‘yh H$s Amdí¶H$Vm hmoVr h¡& NMOS

Ho$ {bE h‘| Mm{hE

I. N-àgma (ham)

II. Båßbm§Q> (nrbm)

III. N-àgma (Zrbm)

IV. nm°br{g{bH$m°Z (bmb)

ZrMo {XE JE {dH$ënm| ‘| go ghr CÎma MwZ| …

(a) Ho$db I, II, III

(b) Ho$db I, III, IV

(c) Ho$db II, III, IV

(d) Ho$db I, II, IV

69. nm°br{g{bH$m°Z JoQ> naV H$mo ~‹T>mZo Ho$ {bE,

amgm¶{ZH$ dmîn O‘md Ho$ {bE {ZåZ{b{IV

‘| go H$m¡Z-gm amgm¶{ZH$ Cn¶moJ {H$¶m OmVm

h¡?

(a) {g{bH$m°Z ZmBQ´>mBS> (Si3N4)

(b) {gboZ J¡g (SiH4)

(c) {g{bH$m°Z Am°³gmBS>

(d) Cnamoº$ ‘| go H$moB© Zht

68. The NMOS layout necessitates a

distinct subset of layers and

features within the fabrication

process. For NMOS we require

I. N-diffusion (green)

II. implant (yellow)

III. N-diffusion (blue)

IV. polysilicon (red)

Choose the correct answer from

the options given below :

(a) I, II, III only

(b) I, III, IV only

(c) II, III, IV only

(d) I, II, IV only

69. To grow the polysilicon gate

layer, which of the following

chemicals is used for chemical

vapour deposition?

(a) Silicon Nitride (Si3N4)

(b) Silane gas (SiH4)

(c) Silicon oxide

(d) None of the above
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70. In which method regularity is

used to reduce complexity?

(a) Random approach

(b) Hierarchical approach

(c) Algorithmic approach

(d) Semi-design approach

71. Which of the following devices

has the highest input

impedance?

(a) Ordinary transistor

(b) JFET

(c) MOSFET

(d) Crystal diode

72. Which of the following is the

correct order for a structural

model in VHDL?

(a) Libraries, Entity Declara-

tion, Component Declara-

tion, Component instantia-

tion

(b) Libraries, Component

Declaration, Entity Declara-

tion, Component instantia-

tion

(c) Libraries, Entity Declara-

tion, Component instantia-

tion, Component Declara-

tion

(d) Component Declaration,

Libraries, Entity Declara-

tion, Component instantia-

tion

70. {H$g {d{Y ‘| O{Q>bVm H$mo H$‘ H$aZo Ho$ {bE

{Z¶{‘VVm H$m Cn¶moJ {H$¶m OmVm h¡?

(a) A{Z¶{‘V Ñ{ï>H$moU

(b) nXmZwH«${‘V Ñ{ï>H$moU

(c) EëJmo[aX²{‘H$ Ñ{ï>H$moU

(d) AY©-{S>µOmBZ Ñ{ï>H$moU

71. {ZåZ{b{IV ‘| go {H$g CnH$aU ‘| g~go

A{YH$ BZnwQ> à{V~mYm h¢?

(a) gmYmaU Q´>m§{OñQ>a

(b) Oo0 E’$0 B©0 Q>r0

(c) E‘0 Amo0 Eg0 E’$0 B0 Q>r0

(d) {H«$ñQ>b S>m¶moS>

72. dr0 EM0 S>r0 Eb0 ‘| g§aMZmË‘H$ ‘m°S>b

Ho$ {bE {ZåZ{b{IV ‘| go H$m¡Z-gm ghr H«$‘

h¡?

(a) nwñVH$mb¶, BH$mB© KmofUm, KQ>H$ KmofUm,

KQ>H$ VmËH$m{bH$Vm

(b) nwñVH$mb¶, KQ>H$ KmofUm, BH$mB© KmofUm,

KQ>H$ VmËH$m{bH$Vm

(c) nwñVH$mb¶, BH$mB© KmofUm, KQ>H$

VmËH$m{bH$Vm, KQ>H$ KmofUm

(d) KQ>H$ KmofUm, nwñVH$mb¶, BH$mB© KmofUm,

KQ>H$ VmËH$m{bH$Vm
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73. Which among the following is a

process of transforming design

entry information of the circuit

into a set of logic equations?

(a) Simulation

(b) Optimization

(c) Synthesis

(d) Verification

74. What is the use of WAIT FOR

statement?

(a) To stop execution when the

condition is false

(b) To stop execution until a

signal changes its value

(c) To stop execution for a

specific time period

(d) To stop execution until the

clock event occurs

75. When did the channel of the

MOSFET form?

(a) When the gate voltage is

lesser than the threshold

voltage

(b) When the gate voltage is

greater than the threshold

voltage

(c) When the gate voltage is

biased to zero volt

(d) None of the above

73. {ZåZ{b{IV ‘| go H$m¡Z-gm g{H©$Q> H$s {S>µOmBZ
E§Q´>r OmZH$mar H$mo bm°{OH$ g‘rH$aUm| Ho$ goQ> ‘|
~XbZo H$s à{H«$¶m h¡?

(a) {g‘wboeZ

(b) AZwHy$bZ

(c) g§íbofU

(d) gË¶mnZ

74. doQ> ’$m°a (WAIT FOR) H$WZ H$m Cn¶moJ
³¶m h¡?

(a) O~ pñW{V JbV hmoVr h¡ Vmo {ZînmXZ H$mo
amoH$Zo Ho$ {bE

(b) O~ VH$ H$moB© g§Ho$V AnZo ‘mZ H$mo Zht
~XbVm V~ VH$ {ZînmXZ H$mo amoH$Zo Ho$
{bE

(c) EH$ {d{eï> g‘¶ Ad{Y Ho$ {bE
{ZînmXZ H$mo amoH$Zo Ho$ {bE

(d) O~ VH$ ³bm°H$ Bd|Q> Zht hmoVm V~ VH$
{ZînmXZ H$mo amoH$Zo Ho$ {bE

75. E‘0 Amo0 Eg0 E’$0 B0 Q>r0 H$m M¡Zb H$~
~ZVm h¡?

(a) O~ JoQ> dmoëQ>oO W«oemoëS> dmoëQ>oO go H$‘ hmo

(b) O~ JoQ> dmoëQ>oO W«oemoëS> dmoëQ>oO go
A{YH$ hmo

(c) O~ JoQ> dmoëQ>oO H$mo eyÝ¶ dmoëQ> na
~m¶g {H$¶m J¶m hmo

(d) Cnamoº$ ‘| go H$moB© Zht
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76. The FPLA represents a form of

programmable logic that

integrates the qualities of

(a) RAM and PAL

(b) PRAM and ROM

(c) PROM and RAM

(d) PROM and PAL

77. If the energy efficiency of an

SoC is 10 GFLOPS per watt

(GFLOPS/W), and it utilizes

20 W, what is its peak computa-

tional performance?

(a) 20TFLOPS

(b) 200GFLOPS

(c) 10GFLOPS

(d) 2GFLOPS

78. An SoC operates in a

temperature range of – 40 ºC to

85 ºC. If the maximum junction

temperature of the chip is

125 ºC and the thermal

resistance from junction to

ambient is 50 ºC/W, what is the

maximum allowable power

dissipation to stay within the

specified temperature range?

(a) 2 W

(b) 2·5 W

(c) 0·8 W

(d) 1·5 W

76. E’$0 nr0 Eb0 E0 EH$ àmoJ«m‘o~b bm°{OH$
H$m ê$n àñVwV H$aVm h¡ Omo _____ Ho$ JwUm|
H$mo EH$sH¥$V H$aVm h¡&

(a) RAM Am¡a PAL

(b) PRAM Am¡a ROM

(c) PROM Am¡a RAM

(d) PROM Am¡a PAL

77. ¶{X EH$ SoC H$s D$Om© XjVm 10

GFLOPS à{V dm°Q> (GFLOPS/W) h¡,

Am¡a ¶h 20 W H$m Cn¶moJ H$aVm h¡, Vmo

BgH$m nrH$ H$åß¶yQ>oeZb àXe©Z ³¶m h¡?

(a) 20TFLOPS

(b) 200GFLOPS

(c) 10GFLOPS

(d) 2GFLOPS

78. EH$ SoC – 40 ºC go 85 ºC Ho$ Vmn‘mZ

gr‘m ‘| H$m‘ H$aVm h¡& ¶{X {Mn H$m

A{YH$V‘ O§³eZ Vmn‘mZ 125 ºC h¡ Am¡a

O§³eZ go n[adoe VH$ H$m W‘©b à{VamoY

50 ºC/W h¡, Vmo {Z{X©ï> Vmn‘mZ gr‘m Ho$

^rVa ahZo Ho$ {bE A{YH$V‘ AZw‘V nmda

{S>{gnoeZ ³¶m h¡?

(a) 2 W

(b) 2·5 W

(c) 0·8 W

(d) 1·5 W
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79. An SoC has a maximum clock

frequency of 2·5 GHz and

requires 1·8 volts for operation.

If the propagation delay for a

critical path in the design is

300 ps, what is the number of

clock cycles required for one

operation along this path?

(a) 1800 cycles

(b) 2000 cycles

(c) 1200 cycles

(d) 1500 cycles

80. What is the primary advantage

of emulation over simulation in

ASIC design verification?

(a) Emulation provides faster

simulation speed

(b) Emulation allows for testing

larger and more complex

designs

(c) Emulation offers higher

accuracy in timing analysis

(d) Emulation requires less

hardware resources

79. EH$ SoC H$s A{YH$V‘ ³bm°H$ {’«$¹|$gr 2·5

GHz h¡ Am¡a Bgo g§MmbZ Ho$ {bE 1·8

dmoëQ> H$s Amdí¶H$Vm hmoVr h¡& ¶{X {S>µOmBZ

‘| EH$ ‘hÎdnyU© nW Ho$ {bE àgma {db§~

300 ps h¡, Vmo Bg nW Ho$ gmW EH$

Am°naoeZ Ho$ {bE Amdí¶H$ ³bm°H$ gmB{H$b

H$s g§»¶m ³¶m h¡?

(a) 1800 gmB{H$b

(b) 2000 gmB{H$b

(c) 1200 gmB{H$b

(d) 1500 gmB{H$b

80. E0 Eg0 AmB©0 gr0 {S>µOmBZ gË¶mnZ ‘|

{g‘wboeZ H$s VwbZm ‘| AZwH$aU H$m ‘w»¶

bm^ ³¶m h¡?

(a) AZwH$aU VoO {g‘wboeZ J{V àXmZ H$aVm

h¡

(b) AZwH$aU ~‹S>o Am¡a A{YH$ O{Q>b

{S>µOmBZm| Ho$ narjU H$s AZw‘{V XoVm h¡

(c) AZwH$aU g‘¶ {díbofU ‘| Cƒ

gQ>rH$Vm àXmZ H$aVm h¡

(d) AZwH$aU ‘| H$‘ hmS>©do¶a  g§gmYZm| H$s

Amdí¶H$Vm hmoVr h¡
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81. A low-power ASIC design

consumes 60 milliwatts (mW) of

power at 0·8 volts. If the power

supply voltage is increased to

1·0 volts while maintaining the

same power consumption, what

is the percentage decrease in

current consumption?

(a) 50%

(b) 40%

(c) 20%

(d) 30%

82. What is the primary purpose of

a memory controller in ASIC

memory design?

(a) To generate clock signals for

memory operations

(b) To decode memory

addresses and select

memory locations

(c) To provide power to memory

modules

(d) To perform arithmetic

operations on memory data

83. Which of the following

techniques is not commonly

used for routing in physical

design?

(a) Maze routing

(b) A* algorithm

(c) Lee’s algorithm

(d) Rip-up and reroute

81. EH$ bmo-nmda E0 Eg0 AmB©0 gr0 {S>µOmBZ

0·8 dmoëQ> na 60 {‘brdmQ (mW) e{º$ H$m

Cn^moJ H$aVm h¡& ¶{X nmda gßbmB© dmoëQ>oO

H$mo 1·0 dmoëQ> VH$ ~‹T>m¶m OmVm h¡ O~{H$ dhr

e{º$ Cn^moJ ~ZmE aIm OmVm h¡, Vmo dV©‘mZ

InV ‘| à{VeV H$‘r ³¶m h¡?>

(a) 50%

(b) 40%

(c) 20%

(d) 30%

82. E0 Eg0 AmB©0 gr0 ‘o‘moar {S>µOmBZ ‘| EH$

‘o‘moar {Z¶§ÌH$ H$m ‘w»¶ CÔoí¶ ³¶m h¡?

(a) ‘o‘moar g§MmbZ Ho$ {bE ³bm°H$ {g¾b

CËnÞ H$aZm

(b) ‘o‘moar nVm| H$mo {S>H$moS> H$aZm Am¡a ‘o‘moar

ñWmZm| H$m M¶Z H$aZm

(c) ‘o‘moar ‘m°S>çyb H$mo nmda àXmZ H$aZm

(d) ‘o‘moar S>oQ>m na A§H$J{UVr¶ g§MmbZm

H$aZm

83. {ZåZ{b{IV ‘| go H$m¡Z-gr VH$ZrH$ ^m¡{VH$

{S>µOmBZ ‘| ê$qQ>J Ho$ {bE gm‘mÝ¶V… Cn¶moJ

Zht H$s OmVr h¡?

(a) ‘¡µO ê$qQ>J

(b) A* EëJmo[aX‘

(c) br H$m EëJmo[aX‘

(d) [an-An Am¡a arê$Q>
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84. In the intricate realm of

electronics packaging technol-

ogies, which technique serves

as a prevalent means for

dissipating the heat emanating

from electronic components?

(a) Thermal Printing

(b) Die Bonding

(c) Heat Sink Attachment

(d) Wire Bonding

85. In the realm of chipset design

and production, which of the

following stages involves the

synthesis of the logical design

into a physical layout?

(a) RTL design

(b) Logic synthesis

(c) Physical design

(d) Verification and validation

84. Bbo³Q´>m°{Z³g n¡Ho$qOJ àm¡Úmo{JH$s¶m| Ho$ O{Q>b

joÌ ‘|, H$m¡Z-gr VH$ZrH$ Bbo³Q´>m°{ZH$ KQ>H$m|

go {ZH$bZo dmbr J‘u H$mo Zï> H$aZo H$m EH$

ì¶mnH$ gmYZ h¡?

(a) W‘©b qàqQ>J

(b) S>mB© ~m°pÝS>¨J

(c) hrQ> qgH$ AQ>¡M‘|Q>

(d) dm¶a ~m°pÝS>¨J

85. {MngoQ> {S>µOmBZ Am¡a CËnmXZ Ho$ joÌ ‘|,

{ZåZ{b{IV ‘| go H$m¡Z-gm MaU Vm{H©$H$

{S>µOmBZ H$mo ^m¡{VH$ boAmCQ> ‘| g§íbo{fV

H$aVm h¡?

(a) RTL {S>µOmBZ (RTL design)

(b) bm°{OH$ qgWo{gg (Logic synthesis)

(c) ^m¡{VH$ {S>µOmBZ (Physical design)

(d) gË¶mnZ Am¡a ‘mÝ¶Vm (Verification

and validation)



ST01/39-A ( 51 ) [ P.T.O.

86. Delve into the assertions

concerning Epitaxial Growth :

I. Epitaxial growth entails the

cultivation of thin layers

atop a substrate wafer.

II. Vapor phase epitaxy is

synonymous with physical

vapor deposition.

III. OMCVD facilitates the

growth of epitaxial layers

employing metalorganic

compounds.

IV. The drawbacks of the CVD

technique encompass its

high throughput coupled

with a sluggish deposition

rate.

Which of the above statements

is/are correct?

(a) II and III only

(b) I and III only

(c) I, II and III only

(d) I, III and IV only

86. E{nQ>¡p³e¶b J«moW go g§~§{YV Xmdm| na JhamB©

go {dMma H$a| …

I. E{nQ>¡p³e¶b J«moW ‘| EH$ gãgQ´>oQ> do’$a

Ho$ D$na nVbr naVm| H$s IoVr hmoVr h¡&

II. dona ’o$O E{nQ>¡³gr ^m¡{VH$ dmîn O‘md

Ho$ g‘mZmW©H$ h¡&

III. Amo0 E‘0 gr0 dr0 S>r0 YmVwH$m~©{ZH$

¶m¡{JH$m| H$m Cn¶moJ H$aHo$ E{nQ>¡p³e¶b

naVm| H$s d¥{Õ H$s gw{dYm XoVm h¡&

IV. gr0 dr0 S>r0 VH$ZrH$ H$s H${‘¶m| ‘|

BgH$s Cƒ CËnmXZ j‘Vm Ho$ gmW Yr‘r

O‘m Xa em{‘b h¡&

Cnamoº$ ‘| go H$m¡Z-gm/go H$WZ ghr h¡/h¢?

(a) Ho$db II Am¡a III

(b) Ho$db I Am¡a III

(c) Ho$db I, II Am¡a III

(d) Ho$db I, III Am¡a IV
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87. Among the listed methods,

which one is less commonly

utilized in assessing the

reliability of electronic devices?

(a) Accelerated life testing (ALT)

(b) Highly accelerated stress

testing (HAST)

(c) Non-destructive testing (NDT)

(d) Failure mode and effects

analysis (FMEA)

88. In the intricate orchestration of

printed circuit board creation,

what meticulous specifications

must be meticulously docu-

mented to ensure the successful

fabrication of the board?

(a) The precise dimensions

and outline of the board,

sculpted with exacting

precision

(b) A comprehensive drilling

chart, meticulously charting

the coordinates and

dimensions of each

perforation

(c) An intricate stack-up

drawing, delineating the

complex arrangement of

layers with meticulous

detail

(d) All of the aforementioned

specifications

87. gyMr~Õ {d{Y¶m| ‘| go, H$m¡Z-gr Bbo³Q´>m°{ZH$

CnH$aUm| H$s {dídgZr¶Vm H$m AmH$bZ H$aZo

‘| H$‘ gm‘mÝ¶V… Cn¶moJ H$s OmVr h¡?

(a) Ëd[aV OrdZ narjU

(b) AË¶{YH$ Ëd[aV VZmd narjU

(c) J¡a-{dZmeH$mar narjU

(d) {d’$bVm ‘moS> Am¡a à^md {díbofU

88. ‘w{ÐV g{H©$Q>> ~moS>© {Z‘m©U Ho$ O{Q>b g‘Ýd¶

‘|, g’$b {Z‘m©U gw{ZpíMV H$aZo Ho$ {bE

H$m¡Z-go gyú‘ {d{ZX}em| H$m {dñVma go

XñVmdoOrH$aU {H$¶m OmZm Mm{hE?

(a) ~moS>© Ho$ gQ>rH$ Am¶m‘ Am¡a ê$naoIm,

AË¶{YH$ gQ>rH$Vm Ho$ gmW AmH$ma {XE

JE

(b) EH$ ì¶mnH$ {S´>qbJ MmQ>©, àË¶oH$ {N>ÐU

Ho$ {ZX}em§H$ Am¡a Am¶m‘m| H$m {dñVma go

Mm{Q>ªJ

(c) EH$ O{Q>b ñQ>¡H$-An S´>mB§J, naVm| H$s

O{Q>b ì¶dñWm H$m {dñV¥V dU©Z

(d) Cnamoº$ g^r {d{ZX}e
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89. There are two photolithography

systems : one with the light

source of wavelength λ1=146 nm

(system 1) and another with the

light source of wavelength

λ2=315 nm (system 2). Both

photolithography systems are

otherwise identical. If the

minimum feature sizes that can

be realized using System 1 and

System 2 are Lmin1 and Lmin2
respectively, the ratio Lmin1/

Lmin2 is

(a) 0·112

(b) 0·463

(c) 0·212

(d) 3·567

90. What factor among the options

below holds considerable sway

in influencing the reliability of

solder joints within electronic

packaging?

(a) Solder’s surface tension

(b) Wetting angle

(c) Formation of intermetallic

compounds

(d) Residue from flux

89. Xmo ’$moQ>mo{bWmoJ«m’$s {gñQ>‘ h¢ : EH$ ‘|

àH$me òmoV H$s Va§JX¡¿¶© λ1=146 nm

({gñQ>‘ 1) Am¡a Xÿgao ‘| àH$me òmoV H$s

Va§JX¡¿¶© λ2=315 nm ({gñQ>‘ 2) h¡&

AÝ¶Wm XmoZm| ’$moQ>mo{bWmoJ«m’$s {gñQ>‘ g‘mZ

h¢& ¶{X {gñQ>‘ 1 Am¡a {gñQ>‘ 2 H$m Cn¶moJ

H$aHo$ gmH$ma H$s Om gH$Zo dmbr Ý¶yZV‘

’$sMa AmH$ma H«$‘e… Lmin1 Am¡a Lmin2

h¢, Vmo AZwnmVM Lmin1/Lmin2 h¡

(a) 0·112

(b) 0·463

(c) 0·212

(d) 3·567

90. ZrMo {XE JE {dH$ënm| ‘| go H$m¡Z-gm H$maH$

BboH$Q´>m°{ZH$ n¡Ho$qOJ Ho$ ^rVa gmoëS>a Omo‹S>m|

H$s {dídgZr¶Vm H$mo à^m{dV H$aZo ‘|

‘hËdnyU© à^md aIVm h¡?

(a) gmoëS>a H$m gVhr VZmd

(b) d¡qQ>J E§Jb

(c) A§VYm©pËdH$ ¶m¡{JH$m| H$m {Z‘m©U

(d) âb³g go Adeof
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91. ‘w{ÐV g{H©$Q> ~moS>© {eën H$m¡eb Ho$ O{Q>b joÌ

‘|, gmoëS>a ‘mñH$ Ho$ AZwà¶moJ ‘| loð>Vm Ho$

{bE à{VñnYm© H$aZo dmbr Ag§»¶ VH$ZrH$m|

Ho$ ~rM, H$m¡Z-gr {d{Y g‘mZVm Ho$ à{V‘mZ

Ho$ ê$n ‘| I‹S>r h¡?

(a) ñH«$sZ qàqQ>J H$s àmMrZ H$bm

(b) Bbo³Q´>moßboqQ>J H$m {dÚwV amgm¶{ZH$

M‘ËH$ma

(c) dmîn O‘md ‘| AUwAm| H$m B©Wa Z¥Ë¶

(d) boOa EãboeZ ‘| ’$moQ>m°Z hoa’o$a H$s

gQ>rH$Vm

92. {ZåZ{b{IV ‘| go H$m¡Z-gr VH$ZrH$ H$m ‘w»¶

ê$n go Cn¶moJ AY©MmbH$ Ho$ {dÚwV JwUm|, O¡go

H¡$[a¶a EH$mJ«Vm Am¡a J{VerbVm H$mo ‘mnZo Ho$

{bE {H$¶m OmVm h¡?

(a) E³g-ao {ddV©Z

(b) ñH¡$qZJ Bbo³Q´>m°Z ‘mBH«$moñH$monr

(c) na‘mUw ~b ‘mBH«$moñH$monr

(d) hm°b à^md ‘mn

91. In the intricate realm of printed

circuit board craftsmanship,

amidst the myriad techniques

vying for pre-eminence in the

application of solder mask,

which method stands as a

paragon of commonality?

(a) The venerable art of screen

printing

(b) The electrochemical marvel

of electroplating

(c) The ethereal dance of

molecules in vapor

deposition

(d) The precision of photon

manipulation in laser

ablation

92. Which of the following

techniques is primarily used to

measure the electrical properties,

such as carrier concentration and

mobility, of a semiconductor?

(a) X-ray Diffraction (XRD)

(b) Scanning Election Micro-

scopy (SEM)

(c) Atomic Force Microscopy

(AFM)

(d) Hall Effect Measurement
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93. Which of these options does not

typically involve the application

of MEMS devices?

(a) Optical fiber technology

(b) DNA sequencing processes

(c) Integration of

accelerometers into

smartphones

(d) Functionality within inkjet

printers

94. Which method among the

following is employed to

optically analyze materials by

gauging the intensity of light

scattered at various angles?

(a) X-ray diffraction

(b) Fourier-transform infrared

spectroscopy

(c) Raman spectroscopy

(d) Dynamic light scattering

93. BZ {dH$ënm| ‘| go H$m¡Z-gm Am‘Vm¡a na

E‘0 B©0 E‘0 Eg0 CnH$aUm| Ho$ AZwà¶moJ ‘|

em{‘b Zht hmoVm h¡?

(a) Am°pßQ>H$b ’$mB~a àm¡Úmo{JH$s

(b) S>r0 EZ0 E0 AZwH«$‘U à{H«$¶mE±

(c) ñ‘mQ>©’$moZ ‘| E³goboamo‘rQ>a H$m EH$sH$aU

(d) B§H$OoQ> qàQ>a ‘| H$m¶©j‘Vm

94. {ZåZ{b{IV ‘| go {H$g {d{Y H$m Cn¶moJ

{d{^Þ H$moUm| na {~Iar hþB© àH$me H$s Vrd«Vm

H$mo ‘mnH$a gm‘{J«¶m| H$m Am°pßQ>H$b {díbofU

H$aZo Ho$ {bE {H$¶m OmVm h¡?

(a) E³g-ao {ddV©Z

(b) ’y$[a¶a-Q´>m§g’$m°‘© BÝ’«$maoS> ñno³Q´>moñH$monr

(c) a‘Z ñno³Q´>moñH$monr

(d) S>m¶Zm{‘H$ bmBQ> ñH¡$Q>[a¨J
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95. What is the underlying principle

behind measurements utilizing

magneto-optical Kerr effect

(MOKE)?

(a) Assessing X-ray absorption

within a magnetic field

(b) Evaluating alterations in

light polarization caused by

a magnetic field

(c) Gauging electron spin

resonance amidst a

magnetic field

(d) Analyzing magnetic hyster-

esis loops employing X-rays

96. Which characteristic does the

van der Pauw method assess?

(a) Electrical resistivity

(b) Hall coefficient

(c) Seebeck coefficient

(d) Thermal conductivity

95. ‘¡¾oQ>mo-Am°pßQ>H$b Ho$a à^md H$m Cn¶moJ H$aHo$

‘mn Ho$ nrN>o H$m ‘yb {gÕm§V ³¶m h¡?

(a) Mw§~H$s¶ joÌ Ho$ ^rVa E³g-ao AdemofU

H$m AmH$bZ

(b) Mw§~H$s¶ joÌ Ho$ H$maU àH$me Y«wdrH$aU

‘| n[adV©Z H$m ‘yë¶m§H$Z

(c) Mw§~H$s¶ joÌ Ho$ ~rM Bbo³Q´>m°Z pñnZ

AZwZmX H$mo ‘mnZm

(d) E³g-ao H$m Cn¶moJ H$aHo$ Mw§~H$s¶

{hñQ>oao{gg byn H$m {díbofU

96. d¡Z S>oa nm¡d {d{Y {H$g {deofVm H$m AmH$bZ

H$aVr h¡?

(a) {dÚwV à{VamoYH$Vm

(b) hm°b JwUm§H$

(c) gr~oH$ JwUm§H$

(d) W‘©b MmbH$Vm
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97. In which method is the Seebeck

effect harnessed for the assess-

ment of the thermoelectric

characteristics of a material?

(a) Differential scanning

calorimetry

(b) Thermogravimetric analysis

(c) Seebeck coefficient

measure-ment

(d) Hall effect measurement

98. Which spectroscopic method is

employed to investigate the

vibrational modes of molecules

within a semiconductor material

through the measurement of

infrared light absorption or

emission energy?

(a) Raman spectroscopy

(b) Fourier-transform infrared

(FTIR) spectroscopy

(c) X-ray diffraction (XRD)

(d) Auger electron spectroscopy

(AES)

97. {H$g {d{Y ‘| {H$gr gm‘J«r H$s W‘m}Bbop³Q´>H$

{deofVmAm| Ho$ AmH$bZ Ho$ {bE gr~oH$ à^md

H$m Cn¶moJ {H$¶m OmVm h¡?

(a) {^ÞmË‘H$ ñH¡$qZJ H¡$bmoar‘oQ´>r

(b) W‘m}J«o{d‘o{Q´>H$ {díbofU

(c) gr~oH$ JwUm§H$ ‘mnZ

(d) hm°b à^md ‘mnZ

98. H$m¡Z-gr ñno³Q´>moñH$mo{nH$ {d{Y BÝ’«$maoS> àH$me

AdemofU ¶m CËgO©Z D$Om© Ho$ ‘mnZ Ho$

‘mÜ¶‘ go AY©MmbH$ gm‘J«r Ho$ ^rVa AUwAm|

Ho$ H§$nZ ‘moS> H$s Om§M Ho$ {bE {Z¶mo{OV H$s

OmVr h¡?

(a) a‘Z ñno³Q´>moñH$monr

(b) ’y$[a¶a-Q´>m§g’$m°‘© BÝ’«$maoS> ñno³Q´>moñH$monr

(c) E³g-ao {ddV©Z

(d) Am°Ja Bbo³Q´>m°Z ñno³Q´>moñH$monr



99. What is the chief benefit of

employing III-V compound

semiconductors like gallium

arsenide (GaAs) in

optoelectronic devices in

contrast to silicon?

(a) Higher carrier mobility

(b) Lower cost

(c) Larger wafer size availability

(d) Reduced sensitivity to

temperature variations

100. Within a light-emitting diode

(LED), what function does the

‘quantum well’ architecture

serve?

(a) To confine charge carriers

within a narrow region to

enhance light emission

efficiency

(b) To increase the bandgap of

the semiconductor material

(c) To reduce the operating

voltage of the LED

(d) To improve heat dissipation

from the LED chip

99. III-V ¶m¡{JH$ AY©MmbH$m| O¡go J¡{b¶‘

Amg}ZmBS> (GaAs) H$m Am°ßQ>moBbo³Q´>m°{ZH$

CnH$aUm| ‘| {g{bH$m°Z H$s VwbZm ‘| Cn¶moJ

H$aZo H$m ‘w»¶ bm^ ³¶m h¡?

(a) Cƒ dmhH$ J{VerbVm

(b) H$‘ bmJV

(c) ~‹S>o do’$a AmH$ma H$s CnbãYVm

(d) Vmn‘mZ n[adV©Z Ho$ à{V H$‘

g§doXZerbVm

100. EH$ àH$me CËgO©H$ S>m¶moS> Ho$ ^rVa, "¹$m§Q>‘

dob' g§aMZm ³¶m H$m¶© H$aVr h¡?

(a) àH$me CËgO©Z XjVm ~‹T>mZo Ho$ {bE

MmO© dmhH$ H$mo EH$ g§H$sU© joÌ Ho$ ^rVa

~§X H$aZm

(b) AY©MmbH$ gm‘J«r Ho$ ~¢S>J¡n H$mo ~‹T>mZo

Ho$ {bE

(c) Eb0 B©0 S>r0 Ho$ g§MmbZ dmoëQ>oO H$mo

H$‘ H$aZo Ho$ {bE

(d) Eb0 B©0 S>r0 {Mn go J‘u Anì¶¶ ‘|

gwYma H$aZo Ho$ {bE
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SPACE FOR ROUGH WORK

aµ’$ H$m¶© Ho$ {bE
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aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK

aµ’$ H$m¶© Ho$ {bE
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aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK

aµ’$ H$m¶© Ho$ {bE
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SPACE FOR ROUGH WORK

aµ’$ H$m¶© Ho$ {bE


